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1. A number was increased by 40% and thereafter decreased by 40%. The net change
in the number in percentage is

(A) 16% increase (B) 16% decrease
(C) 32% decrease (D) No change

1. G @O1 TRATF 24 40% I 91 2 IF O] e 40% P I 277 | %[O /R[S
TRYCHE o G (20w

(A) 16% I (B) 16% 3P
(C) 32% 3~ (D) S#Raee

1. @3 MANF 40% I FA T IR *[IGICe 40% ZPT ¥4 27 | R ey wanfog b

e 2e
(A) 16% I= (B) 16% Z™
(C) 32% g™ (D) wifzafe®

1. e HFE fomaEl i 40% SRF™ SR 3T 3 40% @HREAE S| Staaied o foEm

3T | STt
(A) 16% el (B) 16% @H &l
(C) 32% @H &t (D) S GieTRme

1. TF 9= ° 40% i ghg H T 3R 30% a8 40% =1 &t TS| G § I[E Iiaa- gfawrd @
(A) 16% i gfg (B) 16% I =hHt
(C) 32% ht HHt (D) @I FeaTE T

2. If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then find the age of A after 9 years from now.

(A) 25 years (B) 35 years
(C) 50 years (D) 45 years

SPACE FOR ROUGH WORK
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2. I A, B SF CJ 9T I 22 I%F HF B IF C J ¢ I 25 J2d, (98 AfST{ 7/l 9 I%7<
oree A3 I 27

(A) 25 929 (B) 35 9=
(C) 50 q=F (D) 45 3=

2. M A, B 8 C-97 91T TP 22 27 GR B 8 C-&F 9T 7P 25 I87 2, O 94 (AT 9 I
7 A-99 T F© 3(F, [l T |
(A) 25 =7 (B) 35 3=

(C) 50 <= (D) 45 =g

2. 9t A, B 3% C T4 778 s@isn 22 MR ™ B 3 C T 7T 99T 25 dEisd, 9 SER e

AT Seten S8e SIA?
(A) 25 SR (B) 35 R
(C) 50 FER (D) 45 FER
2. Ifd A, B 3R C I 3f|d 311 22 a9 a1 B 3R C At 3fEd 311g 25 a9 g, @ 3919 ¥ 9 °id 918
A 3T 1d shifS |
(A) 25 a9 (B) 35 a9
(C) 50 = (D) 45 =

3. The smallest among \F, \F, \F and \F is
2°V3 4 3
1 1
1 2
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W

\g \E,\/EW\EEWWWWW
(A) \E (B) \E
(©) \E (D) \E
3. \g \E,\Ema\g—ammwﬂwﬁ%“@
(A) \E (B) \E
©) \E (D) \E
w I o !
(©) \E (D) \E
a. 15 [Eete 2 s gt
(A) \E (B) \g
(©) \E (D) \E
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4 Iffzgzg, then Xryrz is equal to
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) S
4. zﬁﬁ%=%=§,mx+g+zami’a
(A) 2 (B) 3
(C) 4 (D) 5
4. aﬁ§=%=§,mx+g+z—mﬂw
(A) 2 (B) 3
(C) 4 (D) 5
4. 9 X =Y -2 s XYTZ o gum swim
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
4. AR X_Y_Z XYY e 2
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
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5. Two numbers are in the ratio 2 : 3 and the product of their HCF and LCM is 96.
The sum of the two numbers is

(A) 18 (B) 20

(C) 22 (D) 24

5. Bl R4T 2 : 3 TINOS HCR HF R oALT. F FAB.-F Z[TFA 96. IR GO oI

€263
(A) 18 (B) 20
(C) 22 (D) 24

5. b TRAE SIS 2 : 3 IR O .8, R TG -7 BOIFE 96. TR {oa (9FeT 7T
(A) 18 (B) 20

(€ 22 (D) 24

5. AA4 fomm sgs@mEn 2 : 3 I foER deman. SR g.endn. [ dmsteeEn 96. o fomm

piEEIiE R EnICHITERIRSICIR]
(A) 18 (B) 20
(C) 22 (D) 24

5. 9 GEA 2 : 3 U H € IR ok WewH THIIEdS IR Tgad THIIEE 1 UG 96 71 GHI

13T 1 A 2
(A) 18 (B) 20
(C) 22 (D) 24

SPACE FOR ROUGH WORK
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6. The value of %/87 is
(A) 1 (B) 3
(C) 2 (D) 4

6. @ﬂmi’a

(A) 1 (B) 3

(C) 2 (D) 4
6. J82-az W

(A) 1 (B) 3

(€) 2 (D) 4
6. 382 fiurm

(A) 1 (B) 3

(C) 2 (D) 4
6. {82 mam 2

(A) 1 (B) 3

() 2 (D) 4

7. A certain amount invested in a firm would become double at the end of one month,
but it deducts an amount of ¥ 120 on every doubling. A person invests an amount
of ¥105 and continues for 3 months without investing any additional amount.
At the end of 3 months, his net income is

(A) ¥55 (B) 0
(C) ¥270 (D) ¥45

SPACE FOR ROUGH WORK
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7. @I 9 FPR AfDe g7 RS e aNzy ome @3 g y@dl ARweE =0iel, 52
2AfSDICHIca 2feqq 1 w89 2'cefe & 120 Ffb MY | 9o Teee @2 dfewie 105 R
I IE (FICA S [T TP 2 3 W2 b1 flcq | 3 W2 WS [e2SeTq Jo IR

(A) ¥55 (B) ¥0
(C) ¥270 (D) ¥45

7. &35 8 »fFe o1 @ a1 2feviem RS s 9 e[ 1@ Bsd 2@ a7 8 ofe
R €120 (G 1€T || & e T 105 RE@e s@ @32 @i wfeie «fue
RfSce 1 Fcg 3 W @ '@ 1 3 WIOE (I Ol (G IR 3¢

(A) ¥55 (B) 0
(C) €270 (D) ¥45
7. AFE BIATH BEIEE T IAYHEA THE SeAEd o TS B4 SR ™ B STRh el

FHEAMT T 120 Gl IF@ - ATGAl | 99 IST o Bl $EAHE € 105 SHT aF1 3T Siell 3%
T BIeueEE forl o et g 3 @nfaat| g 3T e faerify g s sme

(A) T35 (B) ¥0O
(C) ¥270 (D) ¥45

7. TF B # faw i 72 v ffya ufe v wdE % o ® Qg @ S, afe seE yes e W
¢ 120 i T Fe < ST 71 TE ARG 3@ BH A T 105 A A9 war & IR o foedt arfafen
Tfer &1 e R 3 wE 9% SR WA 21 3 HEH % 37d H IHeh! 8 3 Bt

(A) T55 (B) €0
(C) ¥270 (D) T45

8. The count of prime numbers between 80 and 100 is
(A) 2 (B) 5
€ 3 (D) 4

SPACE FOR ROUGH WORK
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8. 80 ¥ 100 J V&r® S[aFe (Nferd AT (361 2

(A) 2
€ 3

(B) 5
(D) 4

8. 80 Y32 100-97 ¥ TRFe (qfers 2 T 2

(A) 2
(€) 3

(B) 5
(D) 4

8. 80 W 100 T ToTa A-=® Ter HfmT g7

(A) 2
(€) 3

(B) S
(D) 4

8. 80 31 100 & o= 19" gEast i fimd) 2

(A) 2
C) 3

(B) 5
(D) 4

9. Find the value of [(107 +10%)+ (103 +1072)]+10°.

(A) 100
(C) 2

(B) 200
(D) 1

9. [(107 +102%)+ (10% +1072)]+ 10° T T fefy < |

(A) 100
(C) 2

(B) 200
(D) 1

9. [(107 +102)+ (102 +1072)]+ 10°-4q Tre7 foyefey Fepey |

(A) 100
(C) 2

(B) 200
(D) 1

SLRC—2024/P-111/ 1-E
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9. [(107 +10%)+ (10% +1072)]+ 10 f =T fag|
(A) 100 (B) 200
(€) 2 (D) 1
9. [(107 +10%)+ (102 +1072)]+ 10° = AW 1 ST

(A) 100 (B) 200
(C) 2 (D) 1

10. If A : B=3, then 144A : 36B is
(A) 4 (B) 12
(C) 3 (D) 16

10. I A : B=3, (8 144A : 36BI M 2’3
(A) 4 (B) 12
(€) 3 (D) 16

10. I A : B =3, ©(F 144A : 36B-3 9 2@
A) 4 (B) 12
(C) 3 (D) 16

10. Jf¢ A : B = 3, 3%l 144A : 36B T 9mn
A) 4 (B) 12
(C) 3 (D) 16

10. IC A : B=3, A1 144A : 36B ®# A &
(A) 4 (B) 12
(©) 3 (D) 16

SPACE FOR ROUGH WORK
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11. The fraction equivalent of the recurring number 2-19 is
271 217
A) —5 B) -5
99 99
219 291
C) —~— (D) ==
90 90
11. CPeee]as R0 219 I geT B2 (2R
271 217
(A) —= (B) =—
99 99
219 291
(C) —— (D) ==
90 90
11. SIS Y\ 219 -4 S@ely 2] 23
271 217
A) —o (B) =
99 99
219 291
€) — (D) =
90 90
11. 2-19 SEURAE AEAftHTE SN T9H SRae @il T8
271 217
A) —o B) <o
99 99
219 291
C) —~ (D) —+
90 90
11. 3TE @1 219 &l GHd 199 g
271 217
A) —5 B) -5
99 99
219 291
C) —~— (D) ==
90 90
12. The largest of 26, 35, 4% and 5° is
(A) 26 (B) 3%
(C) 4% (D) 53

SPACE FOR ROUGH WORK
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12. 2°, 3°, 4% 5% 53 WWACFHR AEH AT TR 279
(A) 2° (B) 3°
(©) 4% (D) 5°
12. 2°, 3°, 4% @k 53-«7 Woxy JTEAD 27
(A) 2° (B) 3°
(C) 4% (D) 53
12. 2°, 3°, 4% s 53 f Tswa whew
(A) 2° (B) 3°
(C) 4% (D) 53
12. 2° 35 4% 353 § we@ W
(4) 2° (B) 3°
(C) 44 (D) 53
13. For a bicycle rider, it is seen that for every two complete pedaling, the front wheel of
the bicycle makes 3 complete turns. If the radius of the bicycle wheel is 70 cm, the
distance (in metres) covered by the bicycle in 10 complete pedaling is
(A) 7m (B) 14n
(C) 21n (D) 28n
13. g% BIRCFE AR CFqO (4 A @ (9€ (eeere o1 TS oS qifNeE DRI
SABFICOIE 7 3“1 T | T DR 5 P 70 6. . =W, (98 *lewer 1060
3Tfef “[F® BIRCFTIC [FAE 712 (Wo 95e) wfow Bieq 2
(A) 7m (B) 14n
(C) 21n (D) 28n
13. 9% STRTe AR (Fe@ 7l W @ Qo 7pIees e ®eE ARCRCE AN b feefn
e Ao =2 1 A AR BIe APTE 70 ¢ WL =W, Wil 1016 e AncecE ARt
wfody 391 71g (Woreq) 2=
(A) 7m (B) 14n
(C) 21m (D) 28n

SPACE FOR ROUGH WORK
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13. T TTEehel AT Jofe, forn deawt @a 2 Or fhfdsar, fmfy amemn w= 3 arfifeet) gfs
TTgehel AT T@E 70 9. . SN, ofee Udw@! @ 10 9R fhidsen, wmgehen 9@ MeH
(forera) @ReATTH?

(A) Tn (B) 14n
(C) 21n (D) 28n

13. TF HEiohal TaR o I I8 3@ o foF yede @ qui 9efor o o amsferear &1 swren ufean 3 qoi
HHE a1 2 | Afe wrsfhd @ ufed i B 70 "o wio 7, A1 10 Ui Yefom # wEfeRd g1 99 it
gl (fi ) ®
(A) 7m (B) 14n
(C) 21n (D) 28n

14. The base and the height of a right-angled triangle are equal in magnitude and the
length of the third side is 2+/2 cm. The area of the triangle is
(A) 2 sq. cm (B) 242 sq. cm
(C) 4 sq. cm (D) 442 sq. cm

14. @51 FPA faged R o Uo7 T S PORCH! 2RI Oy 242 (6. . | faqgechE
CFaFs]

(A) 2 3 5. fi. (B) 2+/2 3 ¢v. fil.
(C) 4 3sf 5. f. (D) 4+/2 3sf ¢5. 3.

14. 9 e fagees i € Twor wAfel S 992 we qrew oy 242 ¢ [ 1 fageioa
CFaFe] 20
A) 2 3sf &1, . (B) 2+/2 3sf 1. 3.

(C) 4 35f ¢, . (D) 4+/2 3sf 1. fi.
14. T TS FETGAWE T AW SEE Mo @ W oH 310 smenfui aserE

22 9. fu. | 9 smEfEemi s
(A) 2=t @, . (B) 242 =t @, fa.
(C) 4 =t @, fa. (D) 4+/2 =i @, fa.

SPACE FOR ROUGH WORK
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14.

T IV TS T SR 3R 3Eeh! Sarg aRET § SreR § 3R ARl oS A aeTg 24/2 Wo o
HBEES IR EE IR

(A) 2 =t Fo o (B) 2+/2 @ Fo o
(C) 4 =t Wo o (D) 4+/2 =t Fo o

15.

15.

15.

15.

15.

In a range of consecutive numbers starting with 1, all the even numbers are
removed. From the remaining, consider the first 7 numbers. The sum of these
7 numbers is

(A) 35 (B) 42

(C) 49 (D) 56

19 ~[ RS 9 G R (P B 7P e 4] FHCACIN I TR Sreqiz.
2'e | OB AP 22 761 R R F 77 | G2 751 R P T (>

(A) 35 (B) 42

(C) 49 (D) 56

1 Trca o 283 @i TRYISET AR (A0 AN (SIS A AR @Foll 21 | SHBSfl (A
22 715 M4yl w1 27 | G 76 AR e 2

(A) 35 (B) 42

(C) 49 (D) 56

1 S IR S sERm RFwE T S AN SR e | AR AE
femmifr @9 7 SFRETERE 9 A S HE 7 SASEERE SR S

(A) 35 (B) 42

(C) 49 (D) 56

1 ¥ Y€ B el AR G e fl g@en H, 9 99 g A gel & Sl | W9 § ¥ yUw
7 T W =R A | 31 7 TEns w A g

(A) 35 (B) 42

(C) 49 (D) 56

SPACE FOR ROUGH WORK
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16.

16.

16.

16.

16.

Two numbers A and B are first added and squared to get C. In the next step, B is
subtracted from A and the result is squared to get D. The result C — D expressed in
terms of A and B is

(A) A(A+B) (B) 4A-B)
©) A4B (D) 4AB

Yol TR A S[F BT @9 99f FAre C (o1 93 | #9981 BTe AF 7| B [cansl 9 3sf
IS D (A1 A | C~DF A SF B S 2 Fce AFRIMCH 2]

(A) AA+B) (B) 4(A-B)
(©) f:rB (D) 4AB

76 A A 8 B (F AN @9l T W G 39 I¢ C A IR | A[IS! 417 A (e B [l
T 3 QIR FEAE J9f FACE D 7S AR | A € B-GF A2 AR C— D (F 27 FACE 2

(A) A(A+B) (B) 4(A-B)
(C) A4B (D) 4AB

A I B IARNHME! IETEAH W JE o fGgHH C AFam| AW wiieE B @ A Foem
T i T Aty s fagae D a9em| C - D@l A 31 B foermeme wrAmsa

(A) A(A+B) (B) 4(A-B)
(C) Af (D) 4AB

C YT %3 & foTT ugat 2 §&A1sT A 3T B bl ST Sl @ qT 3961 o fohaT STl 2| 37Tl =R/
A, AW ¥ B & 921 ST @ 3 D " 3 & fow 39 aftory =1 anf foean strar @1 9o ¢ - D
Fl A 3 B % &9 H =4t i TN

(A) A(A+B) (B) 4(A-B)
() Af (D) 4AB

SPACE FOR ROUGH WORK
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17.

Find the least number by which 1250 must be multiplied to make it a perfect
square.

(A) 4 (B) 3
€ S (D) 2
17. PN 1 FRACT 1250% 7[99 fEeat @bl =ofqof A2 oI 1 2
(A) 4 (B) 3
(€ S (D) 2
17. el 40 A A 1250 ¢F 99 Fest 2Jef 95 F; A I/ G Fefy wee |
(A) 4 (B) 3
€ 5 (D) 2
17. 1250 @ 3A1g 1 WA 99 GATHA STSETST SHSTeAmH |
(A) 4 (B) 3
€ 5 (D) 2
17. 98 =Hq9 91 91q shifee, e 1250 1 T Ul i 99 o fore Ton femer sman =g |
(A) 4 (B) 3
€ 5 (D) 2
18. When the numerator of a fraction is multiplied by 4 and the denominator by 9,

18.

the fraction reverses. The fraction is

(A) (B)

©) (D)

NSNS, BNS NN
NWw WIN

GBT SR T 4 (T S 295 9 (T 7F FICH ©AIKON ARSCI (o110 | S2RHCBI (=R

(A) (B)

(€) (D)

NSNS NG U RN
Nw WIN

SPACE FOR ROUGH WORK
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18.

18.

18.

G AR FRCE 4 FEI G2 TACF 9 T B FqT 206 A1 Teen T | S’ =+

(A) (B)

NSNS IO U N
N[W Wl

©) (D)

JecAT WA AEEEREIE BFE 4 ST gESTe A0 Sa@ 9 5, o araeaereT oot fifdst) o
ELCIEICIEH 1]

(A) (B)

NSNS IO U N
N[ Wl

©) (D)

e fore 379 o 3791 1 4 | ST N 9 W TN o ST 7, at o 3oie Sian &1 9 e

4 2
(A) 3 (B) 3
5 3
(€ 2 (D) 5

19.

19.

19.

At what percentage of simple interest does an amount of money double in 12 years?

A) 9X% (B) 8<%
2 2
o) 8l D) 91%
(€) (D)
3 3

T T GG A 12 T 0 751 7 7 o7 234 i 24 o 2

A) 9X% (B) 8=%
2 2
o) 8l D) 9X%
(€) (D)
3 3

T IO TS XTI 2 Fore 12 =T @y 272

A) 9X% (B) 8=%
2 2
o) 8l D) 91%
(€) (D)
3 3

SPACE FOR ROUGH WORK
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19. THY THICE! SENE 98 §R TRel g8 gl 12 SERE o STEe BT SIEH?
10 10
(A) 95/0 (B) 82/0
10 lO
(C) 8% (D) 95%
19. HIERY 7S o fohae TfowTd W i gaafen 12 auf & g & Saft?
1, 1,
(A) 95/0 (B) 82/0
10 lO
(C) 83 % (D) 95 %
20. The ratio of the radii of two circles is 1 : 3. The ratio of their areas is
(A) 1:6 B) 2:9
C 1:9 D) 6:9
20. Y5 I AP ST 1 : 3. IS [OF CRATer] S71e 29
A) 1:6 (B) 2:9
C) 1:9 (D) 6:9
20. 7 ST IPNCHT AT 1 : 3. [ CHAFCET ST 2
A) 1:6 (B) 2:9
(C) 1:9 (D) 6:9
20. SEH HHAH F@EERE Tgs@m@ 1 : 3. fowrf wifaf sgsmamn
A) 1:6 (B) 2:9
C) 1:9 (D) 6:9
20. < Fai I Brsnstt 1 g 1 : 3 B 1 3Tk Sl 1 AU 2
A) 1:6 (B) 2:9
(C) 1:9 (D) 6:9

SPACE FOR ROUGH WORK
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21. 100% of 100 when added to 200% of 200 would result
(A) 300 (B) 400
(C) 500 (D) 600
21. 1009 100% J 97 200 T 200% 9] FECE FeFe 279
(A) 300 (B) 400
(C) 500 (D) 600
21. 100-99 100%-¢3 A 200-99 200% 15l T FoRFe 307
(A) 300 (B) 400
(C) 500 (D) 600
21. 10014 100% 3 2001 200% @ SETTsAT AT
(A) 300 (B) 400
(C) 500 (D) 600
21. 200 % 200% H 100 1 100% Sired 9T gioms a9 g
(A) 300 (B) 400
(C) 500 (D) 600
22. If a+b=8, b+c=20 and a+c =18, then the value of a2+ b2 is

22.

22.

(A) 34 (B) 43
(C) 46 (D) 64

It a+b =8, b+c =20 A a+c =18, (33 a’+ b2 I 27
(A) 34 (B) 43
(C) 46 (D) 64

M a+b =8, b+c=20 93 a+c =18 37 O@ a2 + b2-« W 3¢
(A) 34 (B) 43
(C) 46 (D) 64

SPACE FOR ROUGH WORK
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22. Y a+b=8, b+c=20 3R a+c=18, 3 a? + b2 T AMT
(A) 34 (B) 43
(C) 46 (D) 64

22. 9 a+b=8, b+c=203 a+c=18, @ a®+ b2 H A 2
(A) 34 (B) 43
(C) 46 (D) 64

23. If 2* =32, then the value of x is
(A) 4 B) 5
(C) 6 (D) 7
23. I 2% =32, (OB x T I 2T
(A) 4 B) 5
(C) 6 (D) 7
23. IM 2% =32 2, O@ x-9F T =&
(A) 4 (B) 5
(C) 6 (D) 7
23. {fe 2% =32, 3tsatt x ™ AW

A) 4 (B) 5

(C) 6 (D) 7
23. fe 2X =32, Al x HIAHA B

(A) 4 (B) 5

(C) 6 (D) 7

24. The sum of 5 consecutive odd numbers is found to be 95. The largest of the
numbers is

(A) 17 (B) 21
(C) 23 (D) 19

SPACE FOR ROUGH WORK
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24.

24.

24.

24.

551 G S A @9RFE 95 (7M1 9 | FRACILHE SABIROLF Teq IR (22
(A) 17 (B) 21
(C) 23 (D) 19

5 FF YA AW @EE 95 1SN (ofe | TR B 7oy IZewH 7o

(A) 17 (B) 21
(C) 23 (D) 19
HINS A 5 S T SHSHIGRM ST 95. SafRgs e TSR e
(A) 17 (B) 21
(C) 23 (D) 19

5 SHATTA Toog et o1 I 95 UM ST 2 | Hed ol W ©
(A) 17 (B) 21
(C) 23 (D) 19

25.

25.

25.

25.

25.

If the decimal number 34p5 is divisible by 9, then the value of p is
(A) 8 B) 7
C) 4 (D) 6

Ifn IS R4 34p5 (BT 9 @ o 29, (98 pI WA 27
(A) 8 B) 7
©) 4 (D) 6

I wfiE 140 34p5 B 9 =a1 [oren =7, OI2ee p-93 W 2@

(A) 8 (B) 7
(C) 4 (D) 6
Sf¢ gwifier SHMT 34p5 @ 9 St TSN, 3Teal pf wF
(A) 8 B) 7
C) 4 (D) 6

Ife TIHeTd T 34p5, 9 W favysa &, @ pF OH R
(A) 8 (B) 7
(C) 4 (D) 6

SPACE FOR ROUGH WORK
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26. The maximum area of the circle that can be drawn within a square of side 4 cm is

(A) 412 cm? B) 4n cm?
T 2 TC2 2

(C) —cm (D) —cm
4 4

26. 4 (5. . 2T I9fCFq WOR fooqe SF 7}l J€ GOR AEH CFIF 27

(A) 4n? <sf . . (B) 4m 3 (5. .

(©) %zm‘ . . o) * 2of (5. fil.
4

26. 4 ¢1. . IREE @3 39fCHaa o SFce =1 Jeed A CFawa 2

(A) 4n? 2sf &1. . (B) 4n 3sf (1. f.

(©) %zm‘ . . o) * 2o 1. f.
4

26. 4 4. 0. @t w1 s foeTa S 'R S S e
(A) 4n? =t @ fin. (B) 4n =t 9. fir.

© Tt D) ’faﬁa. i

26. 4 Yo Mo IATHR & TH I & X W™ I el AT I H1 AfHaT &TFA 8
(A) 472 =1 Go Mo (B) 4n 91 Fo Hio

() %aﬁ@o o (D) ’faﬁao o

SPACE FOR ROUGH WORK

SLRC-2024/P-111/ 1-E 26



27.

27.

27.

27.

27.

If today is Sunday, then the day after 92 days will be
(A) Saturday (B) Friday
(C) Sunday (D) Monday

v o1& IR 2, (o0 92 g I9 frefchl 2°7
(A) ™ (B) W&A_
(C) A= (D) CTR™

Ifn 1% FREE 27, OrEeE 92 e #[Eq =i 2@

A) R (B) wa=R
(C) wfm@E= (D) CTRER
Sfe ferfa arn fomm, eren 92 wmf 3 W 9= SEE?
(A) =R (B) TFR
(C) s (D) ¥HER
e 31l e 8, a1 92 fedt % we = feq 2nm

(A) e (B) IR
(C) Team (D) |maR

28.

28.

When three times of a given number is subtracted from the square of the number,
the result is the number itself. The number is

(A) 4 (B) 2

(€ -2 (D) —4

I G FRYE 9T 7[1 FRLCO[A Tofe @39 [easl IR 279 R FRACOIER Nl R |
SO TR

(A) 4 (B) 2

(€ -2 (D) —4

SPACE FOR ROUGH WORK
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28.

28.

28.

G3fo Zre IR om0 Y7 F9f (AT [l 1 2ee AR BEE 7R 7=4ife e
R | IR 251

(A) 4 (B) 2

(C) -2 (D) -4

Jfe A AR SHHEE o aFsTermemE! 3@ A, 3Tl a1 o sHfsmEE s o=
STTeT

(A) 4 (B) 2

(C) -2 (D) -4

S forelt " @1 o T 3w wen & ot 9 uer fen Srar R, @) uform ad g w21 9
A 7

(A) 4 (B) 2

(C) -2 (D) -4

29.

29.

29.

29.

29.

In Roman numeral, XCI represents the decimal number

(A) 41 (B) 21
(C) 91 (D) 111
G 3R XCI @ Jeeal wif{s FRCHT 20

(A) 41 (B) 21
(C) 91 (D) 111
G SR XCI =41 fofee w1 wifis 1:emfb 2o

(A) 41 (B) 21
(C) 91 (D) 111
WH graieTd XCI [ awifies smfsmmen s

(A) 41 (B) 21
(C) 91 (D) 111
o 37eh1 § XCI 59 a3merd | 1 fdfied s 2, 98 8
(A) 41 (B) 21
(C) 91 (D) 111

SPACE FOR ROUGH WORK
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30.

30.

30.

30.

30.

A ladder of length 13 m is leaning against a vertical wall with the upper end at the
height of 5 m. The horizontal distance between the foot of the wall and the lower
end of the ladder is

(A) 9 m (B) 5 m

(C) 11 m (D) 12 m

13 . | ©4el T Ty (rdle @9 (R [ SCR S B €0[q Jqeol 5 . Twere
IR | (AR AR S G4 9o J99 A6 S iF 799 (20T

A) 9 . (B) 5 fi.
(C) 11 . (D) 12 f.

13 fi. trcd@ (b 2 @3 Torm MSAER AN TSI (20 SR @ OF ToEa a8 5 .
THOR TEFS | (TEICET WO GR B TChe 20T Ty S 79 2

A) 9 . (B) 5 f¥.

(C) 11 f. (D) 12 .

13 iy, TieTer STieett TE! AR ST st 5 i, shersama @R 89 SiFel | S AT
TES St Merfif Tfefem e s9?

(a) 9 fa. (B) 5 fir.

(©) 11 fa. (D) 12 .

13 Hio el Ueh WGl Uh FHeATaR S W ekl g8 ¢, fSwent a4 5 o & F=mg w 2| dan
% Tl R 3R =ie < f=ret fR o o= 6 afos gl ©

(A) 9 Hio (B) 5 Hto

(C) 11 Hlo (D) 12 #io

SPACE FOR ROUGH WORK
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31. The median of the sequence of numbers 2, -1, 3, 1, -2, 5, 6 is
A) 1 (B) -1
(€ 2 (D) 3
31. 2,-1, 3, 1, -2, 5, 6 RGO I+ (202
(A) 1 B) -1
(C) 2 (D) 3
31. YN Fef&¥ 2, - 1, 3, 1, =2, 5, 6 -4 TGN 27
(A) 1 B) -1
C) 2 (D) 3
31. MM w2, - 1, 3, 1, -2, 5, 6 Ism=T
(A) 1 B) -1
(C) 2 (D) 3
31. RN % A 2, — 1, 3, 1, — 2, 5, 6 I HIEAS @
(A) 1 (B) -1
(C) 2 (D) 3
32. A person moves along a path such that he is always away from a given point by

7 m. After moving for some time, he again reaches his starting point. The
approximate distance the person moved during the time is

(A) 22 m (B) 44 m

(C) 122 m (D) 144 m

SPACE FOR ROUGH WORK
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32.

32.

32.

32.

g qee 9 owe [ o[ w7 [, e @ik R 99 e eees oife e | ey
GCTTCd S IR (€ 77T AR ST FT© ToIS T | G2 AR (D€ Tfoad F1 79
RIEHRI CRE]

(a) 22 f. (B) 44 fx.
(C) 122 fi. (D) 144 .

GFE TG ¥ G ¥ 4eq b @ O T @i [iE Ky s 7 W yag qewm ey |
fPg=el B A O ORI O A f[ee e | @@ e (secd ety wfede w41

R 79 25

(a) 22 f. (B) 44 fi.

(C) 122 f. (D) 144 f3.

T AFRET 3 A SARaEfE oeE el S o 2w foghem seamet 7 @ meee o

W g AEEEAEE 3 o e e SR @Rl § gEEE gueeE 39 M
TGN ?

(a) 22 . (B) 44 fir.
(C) 122 . (D) 144 f.

T SAfth Ueh 99 T 36 TR =erdl ¢ T 9 fou 7y ush forg @ ghwm 7 o g @Al 81 FW R oW
% 916 98 J: IO TR forg W Uge ST §1 39 §HA % QR At g a9 hl TR STgET

U
(A) 22 Hio (B) 44 o
(C) 122 Hlo (D) 144 Hlo

33.

A cube of volume 1 m? is cut equally into smaller cubes of volume 1 cm? each. The

number of smaller cubes found is
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

SPACE FOR ROUGH WORK
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33.

33.

33.

33.

1 91 . SO T GO 791 1 9 (5. . SEreed [y A g e I Tferedr =7 |
o1 AF TR TR (2R

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 9 . SRS GF I SR T SFICA FOod 1 ¥ @1 [, SR e [oe
T 2 | 1Y T GRS AR 2

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 =9 . USWTE TAT T8 % 1 89 4. . a9 S R et g s, e
et == STETTH?

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

1 59 Hio TG It Tk 4 Bl 1 B9 Ho Hio TG It B¢ 1 § GHM &Y § hlel STl €| 91T
T B AT hI G 8

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

34.

34.

34.

The smallest positive integer that is simultaneously divisible by 6, 8 and 12 is
(A) 24 B) 18
(C) 48 (D) 36

6, 8 T[F 12 (3 GC TRCS [Tey Telod LT 4G AL 2’7
(A) 24 (B) 18
(C) 48 (D) 36

TSN ISP 7R AN G2 M 6, 8GR 12 =l [eren, @I 23
(A) 24 (B) 18
(C) 48 (D) 36

SPACE FOR ROUGH WORK
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34. Jufrgs gafeA aTeeTs T SR SRt 6, 8 AR 12 S TS, S Sat
(A) 24 (B) 18
(C) 48 (D) 36
34. TSY BN GATCHS qUTieh, ST Th W19 6, 8 3R 12 ¥ fawrsa g, 8
A) 24 (B) 18
(C) 48 (D) 36
35. The difference between the smallest 3-digit even natural number and the largest

35.

35.

35.

35.

2-digit even natural number is

(A) 1 (B) 2
(C) 3 (D) 4
3-SRFYS IHIRS(P 7E YA FIOIS IR WE 2-WYE 0 A FOIS FRAE 212/ (202
(A) 1 (B) 2
€ 3 (D) 4

3-SR FUSY FSEF I MY QR 2-W(CF J2&H TSI I FRAW TCKy 21w 29
(Aa) 1 (B) 2
€ 3 (D) 4

A 3-gHfsmrET faform s emfvm o @i 2-amfswren ffsmm sst'n smfsmf Tee
T BRI

(A) 1 (B) 2
€ 3 (D) 4
3 k! hI T B TThfcrh T TEAT 3R 2 37kt I ToH T TThfash TH WA % o= H AR
A) 1 (B) 2
(€ 3 (D) 4

SPACE FOR ROUGH WORK
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36. Identify the adverb in the following sentence :
He could not go deep into the forest.
(A) Deep
(B) Go
(C) He
(D) Into

37. From the list below, identify the antonym of ‘cheap’.
(A) Price
(B) Poor
(C) Expensive
(D) Rice

38. What is the synonym of ‘furious’?

(A) Laughter

(B) Witch
(C) Impure
(D) Angry

39. Identify the incorrectly spelt word.

(A) Square
(B) Parpendicular
(C) Diagonal
(D) Triangle

40. Give one-word substitution for ‘a person who loots and plunders ships’.
(A) Robber
(B) Pirate
(C) Dacoit
(D) Looter
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41. What is meant by ‘to get the green signal’?
(A) To stop others
(B) To go away
(C) To get permission

(D) To get the keys of a car

42. Fill in the blank :
Lokesh can jump very .
(A) high
(B) higher
(C) highest
(D) tall

43. What is the collective noun for fish’?

(A) Swarm
(B) Pack
(C) School
(D) Herd

44. Fill in the correct conjunctions in the following :

Reshma Padma knew the directions, and now they are lost.

(A) Either, or

(B) Both, and

(C) Not only, but also
(D) Neither, nor

45. Which of the following punctuation marks is called ‘apostrophe’?
@A) ()

B) (/)

€ ()

(D) ()
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46. Which of the following means similar to ‘elevated’ ?

(A) Topped
(B) Wished
(C) Promoted

(D) Transferred

47. What is meant by ‘to create a ruckus’?
(A) Make loud noise
(B) An artistic work
(C) Produce music

(D) Bake a cake

48. Which of the following sentences is correct?
(A) She had not coming to the wedding.
(B) She is not come to the wedding.
(C) She did not coming to the wedding.
(D) She is not coming to the wedding.

49. Choose the correct option :

We ___ the National Anthem every morning at school.
(A) sanged
(B) sing
(C) sings
(D) singed

50. Which of the following pronouns refers to ‘myself’ ?
(A) We
(B) They
C) I
(D) You
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51. Identify the incorrectly spelt word.
(A) Damsel
(B) Wicked
(C) Volcano
(D) Mountein

52. Identify the correctly spelt word.
(A) Mongrel
(B) Marval
(C) Martal
(D) Middel

53. Identify the preposition in the following sentence :
The cat was sleeping under the cot.

(A) Sleeping

(B) Under
(C) Cot
(D) Was

54. Identify the incorrect set.
(A) Bad : Worse : Worst
(B) Poor : Poorest : Poorer
(C) Rich : Richer : Richest
(D) Good : Better : Best

55. Identify the verb in the following sentence :
Neeraj ran very fast.
(A) Very
(B) Neeraj
(C) Fast
(D) Ran
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56. Which word of the following is an example of pronoun?
(A) Again
(B) Pink
(C) They
(D) Speed

57. What would be the antonym of ‘friend’ ?
(A) Foe
(B) Unfriend
(C) Dislike
(D) Buddy

58. From the list below, identify the synonym of lament’.
(A) Sad
(B) Mourn
(C) Copied
(D) Molecule

59. Which word is incorrectly spelt?
(A) Basically
(B) Essentially
(C) Primarily
(D) Varbally

60. Give one-word substitution for ‘life history of a person written by another person’.
(A) Autobiography
(B) Biography
(C) Monograph
(D) Bigamy
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61. What does ‘in a nutshell’ mean?
(A) Peanuts and almonds
(B) Very tough explanation
(C) Expressed in short

(D) Important discussion

62. Fill in the blank :
Tuhin ran ____ than Zubin to win the race.
(A) fast
(B) faster
(C) fastest
(D) fasting

63. Identify the collective noun for ‘dogs’.
(A) Gang
(B) Herd
(C) Team
(D) Pack

64. Which of the following punctuation marks is called ‘hyphen’?
(A) ()

(B) (/)

€ ()

(D) ()

65. What is the opposite of ‘sorrow’?
(A) Joy
(B) Happy
(C) Laugh
(D) Beauty
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66. Which of the following means ‘to get rid of a problem’?
(A) To hammer it out
(B) To get to the bottom of
(C) To get the monkey off one’s back
(D) To get the acts together

67. Identify the grammatically incorrect sentence.
(A) T want to go home now.
(B) I wish to go home now.
(C) I shall go home now.

(D) T went to go home now.

68. Choose the correct option :

Is your brother __ to the gym?
(A) gone
(B) going
(C) go
(D) went

69. Which pronoun is used for ‘non-living thing’ ?
(A) I
(B) We
(C) Us
(D) It

70. Identify the incorrectly spelt word.
(A) Monkey
(B) Moniker
(C) Matress
(D) Molten
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71. What was the last capital of Ahom Kingdom?

(A) Charaideo (B) Jorhat

(C) Rangpur (D) Garhgaon
71. RN TEEHT CRACH! Areaie & =ifee 2

(A) TarBTTS (B) @==I5

(C) T=*[{ (D) srealle
71. ST ACCTH R AGA (@D 2w 2

(A) DarRwS (B) @26

(C) [ (D) orwalle
71. ATEH TSN = TSITE = SgmE?

(A) =g (B) SREM

(C) TR (D) T
71. RM g Fi 3ifad TS BE-d ofi?

(A) =R (B) Sitere

(C) TR (D) e

72. What was the name of Srimanta Sankardeva’s grandmother?

(A) Aidew Aita (B) Jakoimoti
(C) Kherxuti (D) Soirindhri
72. TR G Lol W20 A Wi 2
(A) RS gl (B) =S
(C) cv=rpel (D) i<
72. TS *RFACIA RO N i fowt 2
(A) SRS iRl (B) el
(C) cx=epel (D) G
72. v weeat foef get AmE?
(A) 3TESE 3ATEAT (B) STHATT
(C) @egfa (D) et
72. v YieRed 6T SE w1 AW T AqT?
(A) =ATEL3 ATl (B) STehIgHIt
(C) wgdt (D) &t
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73.

73.

73.

73.

73.

Who was known as the ‘Lion of Mysore’?

(A) Adil Shah

(C) Krishnaraja Wodeyar
TR PR’ (I SeTe i 2

(A) =Ifwet w2
(C) TS TWIE

@ R ke qee Al foee 2

(A) =Tfwet =2
(C) FReTET STCAR

| Hrgee fie’ g s

INBE USRI
(C) FORST TR

T % I AW Y R S ST on?

INBELESRUH
(C) FURS AR

(B) Hyder Ali
(D) Tipu Sultan

(B) 22w wIfet
(D) 5% pere

(B) 2RMIA el
(D) 7 eTom

(B) BIEa ATelt
(D) fag geam

(B) T 27t
(D) ¥ Gedr

74.

74.

74.

74.

74.

Which State of India has Jallianwala Bagh?

(A) Punjab
(C) Rajasthan

TSI (FICH! TS ST e 2

(A) 1G]
(C) qrerEl

ST S 9l [ (Fle AT ST 2

(A) “nEgR
(C) &=

SAIFATAT ST ARA e TSNS &7

(A) 9Tt
(C) USEIE

SiferareTett ST 9 o forg TS | oo 27

(A) ISTE
(C) TSEI™

(B) Haryana
(D) Uttar Pradesh

(B) =Ifren
(D) Tes 2w

(B) 2fme
(D) Teq 2w

(B) ®IAMI
(D) 3T T

(B) ®fm
(D) 3IW =
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75. Which of the following countries was a part of the Axis Group during the
World War II?

(A) England (B) Japan

(C) France (D) Soviet Union
75. TSR Resgad TS RIS @RLe om S ollba SiRAwE SR 2

(A) 2ecETe (B) Sl

(C) =™ (D) =IfSCAb BTeRM
75. TR oIl e (i @l fReeas T e o fow 2

(A) 2TTS (B) &I

(C) =™ (D) ol ey
75. A1 7 IERTH GEE MERTE M o6 80 Tfrd T STerTHe ¢

(A) ¥ (B) STIH

(C) ®r= (D) wfiEE g3fem
75. Fefafad & @ wH-|1 9w f5da fovags o e i | w1 e o

(A) ¥ie (B) STIH

(C) B (D) Eifera |

76. The ruins of Angkor Wat are in which country?

(A) New Zealand (B) Indonesia

(C) Vietnam (D) Cambodia
76. QT BT FOTCRPIR (IO 7T ?

(A) frefecers (B) TSR

(C) TSN (D) eI
76. IFISH-GF FITRCR (@ W AR 2

A) freferms (B) ZTHICAMRT

(C) fecae™ (D) eI
76. 3T I TREEET SRR e gTeld & ¢

A) Fefes (B) 3= <R

(C) TR (D) o feam
76. ITTHR 91 & Weel [T 39 1§ &7

(A) =sficte (B) seMfIm

(C) ferraam (D) wafea
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77. Which of the following countries does Assam share international borders with?
(A) Bhutan and China
(B) China and Bangladesh
(C) Bangladesh and Bhutan

(D) Myanmar and Bangladesh

77. FEFRS @FEER (R CCS SPIC SES1eF TTEET =2 FCF 2
(A) SO = B
(B) B S eaTICm
(C) I F BT
(D) IR S FILETCH]

77. NI G el SPICHT TBHIRF TGO 2
(A) PO @ B
(B) B 8 queTC
(C) T € THI
(D) TRFNE € JILEAC

77. AEH F6 FRRS SRS & Tem?
(A) T SR =
(B) <9 2RI STetew
(C) et ST e
(D) TIHER AR TR

77. rm Tl & @ for 2o & ary Siauisia i drgn ar 27
(A) e ST <
(B) <A IR Smere™
(C) IR R YA
(D) PR 3R FFATRH
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78.

78.

78.

78.

78.

If an airplane is flying directly from Chennai towards Guwahati, in which direction
is it flying?

(A) From South to East
(B) From East to West
(C) From West to East
(D) From North to East

Tfr Qe RN (o2 711 SAIRBIT (oeeT ¢olie ofF =f2 wiew, cocs [Rede @it fsicer TfF
R 2

(A) wFReR #[[1 {Ca
(B) @4 “41 ~P5wCat
(C) =63 =<1 7[<CeT
(D) TE<S *[1 e

v gl R (o2 (s BARbE Wi TP Toe am, o @it @mics Tuez ?
(A) wFRel (A 2 me
(B) & 2 “IFoames
(C) ¥ (AT 2 me
(D) Ted (AT [ e

T fora’er Ife Semetier e o fsram e, stean fo=n o1 fome forai?
(A) EIATHER T
(B) TSI GHTET
(C) HHTAHER ST
(D) WTETHEME HHSI

Ife g gaTE STeTS =wE ¥ WY e 3R I5H W @I R, a1 98 e fown # 3eW W @ 87
(A) 3feror & gd it 3R
(B) g4 ¥ ufyem i AR
(C) |fvem @ qd &l AR
(D) W & g &l AR
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79. What is the Westernmost State of India?

(A) Rajasthan (B) Punjab

(C) Maharashtra (D) Gujarat
79. OIS HBIRS(P OIS A qEH (Pl 2

(A) ezl (B) “&[

(©) T=IE (D) @&
79. SRCSH ST ey (I 2

(A) qrErElT (B) °ngR

(©) T=HIE (D) @&
79. RAH HEE AT TESIST 77

(A) TSEIH (B) =Tl

(C) Hewrg (D) TSI
79. WG 1 T ufverdt T5T HH-41 77

(A) TSR (B) U™

(C) Hewrg (D) TSI
80. Which of the following peaks does not belong to the Himalayas?

80.

80.

80.

80.

(A) Annapurna (B) Kangto
(C) Anamudi (D) Kamet
e (R 201 fRuERR SEefe w2 2

(A) @ (B) <PICHI
(C) T (D) FlcTe
o (I oAb R o@af© 731 2

(A) e (B) Bl
(C) =T (D) <FIcB
e o ffafn feureat a=?

(A) st (B) Fid
(C) wmmf (D) e
freafafea & @ @F-H =12 fae @ wefa 7@ 27

(A) g (B) =
(C) g (D) W=
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81. The Great Barrier Reef is located in the seas near which continent?
(A) North America (B) Australia
(C) Africa (D) Europe
81. (I TR AN TS J2R 2 DI ST ?
(A) TE HICIR (B) gl
(C) =il (D) 2T
81. J2R A 2 (2t IR &) (Pl TRIwea 638! Tew w1iEs 2
(A) Teq AR (B) SCGml
() (D) Tl
81. U2 SR Nl o BRI @i AbiRTE 37
(A) @1 STHTER (B) ereforen
(C) siseerT (D) T
81. Iz dfter O fohd TeTE o e @z W fea 77
(A) 3 s (B) wefern
(©) kiRt (D)
82. Which of the following is a mountain range of South America?
(A) Andes (B) Karakoram
(C) Alps (D) Caucasus
82. ffI® (FICH! el SR @ “[@reT ?
(A) 9fem (B) PRI
(C) SR (D) CFoR
82. TICox (I el SCHeR @b o 2
(A) e (B) FRICFEN
(C) Xe™ (D) <FCF*mT
82. TEEM TeAT GieT ATHRERI FISHHT HIN?
() T (B) PRI
(C) T (D) eEm
82, freffiad § & FH-e 2 sifeR A 64 e 27
(4) T (B) I
(C) 3o (D) HTeha
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83. The giant waves caused by volcanic eruptions or earthquakes under the sea are

known as
(A) tsunami (B) cyclone
(C) blizzard (D) landslide

83. M5I99 ©fere (FR1 WA Trdlael wia) iR jE w91 928 (O (il =
(A) Pt (B) J-et
(C) 9IRS (D) SR

83. LT Cd WG SPLAT® N $RGC™ Tl 8 TR 0o ol =
(A) T (B) e
(C) $u=E (D) SR

83. ol frema 10 UiEl SREATIS TaT SIS A= el Srarh! ESH
(A) gt (B) SIHTaTE
(C) T TRgEl (D) = fifeEmm™

83. TR % 4 SATgE! B =1 YT % HROT Scad foEner qT Bt ket ST §
() g (B) <ThelTd
(C) S®HT qHE (D) s¥EerH

84. Who is the Chairman of the Rajya Sabha?

(A) The Prime Minister (B) The Vice President
(C) The Speaker of the Lok Sabha (D) The President
84. TGPl JY=F (Flq 27 ?
(A) e (B) Teigefe
(C) CITSR Sk (D) FZf®
84. JEPTeld J=F (F ?
(A) e (B) Tomigeife
(C) CIPTSR S (D) wgeife
84. TS T ATHEIEHIIET €Y
(A) TTETE T (B) TIETE TRRATR
(C) gg el Frfi (D) BTERATR
84. TST GT I LA HH Bl 27
(A) Tu Tt (B) Iurgafd
(C) TAThET 31T (D) g
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85.

85.

85.

85.

85.

Who administers the Oath of Office to the President of India?

(A) The Prime Minister

(B) The Chief Justice of the Delhi High Court
(C) The Chief Justice of the Supreme Court

(D) The Speaker of the Lok Sabha

S JIFEF (FICT *171® Ao IR 2
(A) ZEeTIE!
(B) &l T FyRIeRE 25 R0

(C) Tohow TRIERF 7 R
(D) TP S

(P SRICSA AFATSCE *I2/2=F 10 T 2
(A) 2rrE

(B) Twall TH TRERE 24 [oReife
(C) T TR 24 [vmeife

(D) CETIFTSIR S

TRATT BERATA e wmRatE w e
(A) TITETE WA

(B) Rt it Fafsmanferty mers framei

(C) Tishfem ffswanfy e frmm

(D) g ety gffii

9 o TP <l g 6l 399 i feetmar 27
(A) TaH Tt

(B) Tegt 3= =me™ < g =mne
(C) HaT= =T & &I =R

(D) AHENT 31eTe
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86.

86.

86.

86.

86.

Which of the following musical instruments of Assam is usually made of bamboo?
(A) Doba (B) Mridanga
(C) Dotara (D) Toka

feHferire SpRE qMRETNES (IR AEECS qMeacd e 2
(A) T (B) wzal
(©) cme (D) B

s Tfafie speR @ awRED THEeTe I i ofd 23 9

(A) T (B) ¥

(C) crrerat (D) Il

TMETTE EFM AHMA o9 gMHeral Sars SR ?

(A) (B) &

(C) wdia (D) det

frefeftaa & @ ota| 1 SHF-91 Gifid IEET AR W §iE | S 91 g 27

(A) == (B) mam
(C) are (D) v

87.

87.

87.

Where is the Tocklai Tea Research Centre located?

(A) Jorhat (B) Lakhimpur
(C) Tinsukia (D) Dhemaji
CBIFeT3 BI2 SRl (% 3O SRTS 2

(A) =2 (B) =M

(C) TofepSr (D) CIfS
(BIFeTE. Bl SR (% (IR ST 2

(A) =i (B) =7

(C) e (D) caifes
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87. T3 HET AR FHAMT Fod &7
(A) ST (B) W&y
(C) ferrgleran (D) &St
87. Thells 1 ATHLH kg el 16d 27
(A) SEm (B) R
(C) fargferan (D) emst
88. The Gita Press, a unit of Govind Bhawan Karyalaya, is located in which State?

88.

88.

88.

88.

(A) Uttarakhand (B) Himachal Pradesh

(C) Maharashtra (D) Uttar Pradesh

MW S FROGE @51 (o5 ST (A7, (Pl TS SFS ?
(A) Teqe (B) fasmet aems
(C) =218 (D) Tex 2o

T (2, (oNfim S FROAET G0 ©lol, (P AT SAT© 2
(A) Tedry (B) f2smet 2icws
(C) T2HIE (D) Teq Zow

Tifere e HraE [ M99 @il idr I 99 TS @ ¢
(A) STEETE (B) Tewmret gew
(C) wWenrg (D) I e

Tiar |, M YaT FEiad i Uk 3, fhe T 1 o 27
(A) ITEE (B) fewrerar waw
(C) wemg (D) I JeT

SLRC—2024/P-111/ 1-E 51

[ P.T.O.



89.

89.

89.

89.

89.

An hour during a day’s session when questions/issues may be raised without prior
notice in the Indian Parliament is called

(A) Freedom Hour (B) Lunch Hour

(C) Zero Hour (D) Party Hour

TR ATTS (FIC GOl e1q S Sqierer sieell Sifqzce 2p/Raw =i S 99
R S (AR GEB] TP 6 for (i =@ 2

(A) =& = (B) TRITZCSISH FeT

(C) [0 et (D) welRl e

I Gf6 e e vermieter «fb 8 9bm T 2/ Rmef e Aot 7 w@elfe
2Tl T 2C #[1CH, S A

(A) FE I (B) THIZCSISCIA 1T

(C) 0 = (D) WS FHle

IRAH THaE AFEH ST T2 |9 Sieall SERaSEl ity /e o miEe e
Torar gmN, o e | g

(A) 3eife T| (B) AMSIGH TER ¥H

(C) <o’ Tm (D) BT a9

IR wae § el vk o7 o &= § forn forelt 9@ 9= & T/ 39TT ST U aTel 39 T e
1 T ST 2

(A) T e (B) WeATE-HISH el

(C) I A (D) ™ 1t
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90.

90.

90.

90.

90.

Who is the Chairman of NITI Aayog?
(A) The Finance Minister

(B) The Prime Minister

(C) The Governor of the Reserve Bank of India

(D) The Vice President

TS (NITI) SR LT (Fle 2
(a) foe T3

(B) T

(C) SR Rers @3 9=efq
(D) Tergefe

TS (NITI) SR ST (& ?
(a) fre =@

(B) @ur@

(C) SRR f{ers FIE o=l
(D) To=igefe

Fifq (NITI) s serefifen |e?
(A) T T

(B) TITETS HHA

(C) Wty femed siepfy MR

(D) T3 BRRATR

Hifd (NITI) =0T o1 278987 SiF 27
INBRESE:EL

(B) W& Tt

(C) Wt T Sk 1 TaT

(D) Swrgufd
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91. The Numaligarh Refinery is in which district of Assam?
(A) Sivasagar (B) Jorhat
(C) Golaghat (D) Dibrugarh

91. [NENTG CHIKFIANT ST (FT e SaiEs 2

(A) TRRPTsR (B) @26

(C) CoreTram (D) fegarw
91. [NENTG CHIKFTIANT SPICIE (I (SR SIS 2

(A) PRPTISE (B) =21

(C) oD (D) fEgsn
91. MMM FufehTe ora HigrETfern s e 37

(A) fersEmm (B) ST

(C) TelTETe (D) fegre
91. JuTciiTg Fwret /om = form forer o fedr 27

(A) TR (B) SETR

(C) T (D) fegme

92. The international festival ‘Kullu Dussehra’ is celebrated in which State?
(A) Himachal Pradesh (B) Uttarakhand
(C) Uttar Pradesh (D) Haryana

92. WFEIoF THR g WAl (TR TS “AeTe 1 27 ?
(A) T2 eioe (B) Teqee
(C) Teq Aom (D) =f<E

92. IEHSF TCR Py MO (FIe ACE AT 27 2
(A) T2 eoe (B) Twdre
(C) Tex 2o (D) =
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92. TSN ®RAl Fg N Gl o6l TSNS Bl STl ?
(A) Temmea wewm (B) ITRATE
(C) W = (D) =TT

92. 3FAUTH TR ‘Fg U fohd TA H AT STl &7
(A) feama g (B) TGS
(C) I 9w (D) &f@mm

93. The Bering Strait separates which two landmasses?
(A) Australia and New Zealand (B) The USA and Russia

(C) South Africa and Madagascar (D) Japan and China

93. (IR AN (P YbI TIGF 72T T ?
(A) SICERE =FE Wefeers (B) SNCHR I&AG S IRl
(C) wHFa SIF = TMISTZID (D) S A= DI

93. (A eIl (I 76 FoTOISIT 72T A 2
(A) wegREmE ¢ fefeene (B) W I8 @ AR
(C) wFFal SRRl S qMISRE (D) S 8 B

93. df E-Felel o A eT-WiIE! SrEmar?
(A) i mt fefeere (B) 330 THo o TR AT
(C) e 3TTHehT 3T HETTTEHT (D) UM AW =4

93. AfGT STedf-ar fofd a1 y-9rT A1 TerT st 27
(A) sTiefern 3R =ficie (B) TIh TA TG 31K &4
(C) afequr ThIehT TR HSTTTER (D) SUM R ==
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94. Who wrote the lyrics of ‘Alakananda’, sung by Shankuraj Konwar?
(A) Tonmoy Krypton (B) Sannidhya Bhuyan
(C) Joi Barua (D) Maitrayee Patar

94. *RJ& (FICI (T “Serlerwi” Ae(ba AP I 2
(A) o fFaa (B) Tfery gl
(C) =& 34 (D) Ccant “ioa

94. *MFE (PRI NG Serplerwl’ ol (& feTeecea ?
(A) oI &5 (B) ey $2
(C) = I (D) CCEs! Areq

94, VS Hid THE AARM<T HATEH G ar?
(A) T form (B) @rfae st

(C) ST s&aT (D) Bt d1eX

94. IS higk g T T “SAARM-<1 Mq foper fora?
(A) 9T fopea (B) @f=ed

(C) = =& (D) TrRft uTeR

95. The real name of crime thriller writer Ranju Hazarika is
(A) Satyanath Bora (B) Pabitra Kumar Deka
(C) Hiren Gohain (D) Kumud Chandra Hazarika

95. T (I FIf2eTl (514 T TGP ST T <5 2
(A) ST 9 (B) “@ FI= (ol
(C) AE (2B (D) F 5T F&(SFl

95. SR (IS IR (T4 7 SRR &FS T F1 2
(A) ToRT <= (B) If<q 1« (T
(C) B CaIzfE (D) I 5% FASIEPI
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95.

95.

F1ed TYer foan = e ferl o) get =7
(A) TEATT 5T (B) |fer FHR Il
(©) & e (D) FH3 == & fht

F1EH YR TEsh g SR 1 9l 419 ©
(A) "I & (B) Ul FHR S

(C) Tem eTg (D) FYE =F TSI

96.

96.

96.

96.

96.

Who wrote the children’s book Xanta-Xista Hrista-Pusta Mahadusto?
(A) Nabakanta Barua (B) Hiren Bhattacharyya

(C) Bhabendra Nath Saikia (D) Arup Kumar Dutta

B2 2378 T2E AN g A[fLe (P ferfifee 2

(A) I T (B) 3 SGIHRS
(C) ST *FHA (D) Sl T 7@

CRIBCT “[FF HBHE 2878 W28’ I (31412
(A) T T (B) 2w SGHR
(C) SeamR R (D) = AR 7@

T AR fosTe - g% -gE megEd @t ar foai?
(A) e ST (B) fetd weramd
(C) el TEfeRa (D) 37%7 PAR T

A1 6l Ik, MATE TEYE HEgE fohad fordt?
(A) Tershid ST (B) Tetd wer=md
(C) weig A1 Afepan (D) 3TEY FAR
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97. Kanchipuram Saree is produced in which State?
(A) Kerala (B) Tamil Nadu

(C) Karnataka (D) Telangana

97. [T *T (1L &S TLAW T 27 ?
(A) T (B) wIf¥ee
(C) F(6F (D) CSCERAMI

97. I T (e ey Teenfws 27 2
(A) &I (B) SIfNe=g
(C) o (D) CSCETsFTl

97. FHqH |G J« TESI3AE fagH1?

(A) T (B) dfirerrg
(C) Tl (D) =TT

97. W ATt =l 3cuTed Ford T=T | Brar 27

(A) W (B) dffrerrg
(C) Tl (D) AT

98. Who among the following was a famous painter?
(A) Vincent van Gogh (B) John Lennon
(C) Bob Marley (D) Marlon Brando

98. I (@FHaRIF W e Basa oifee 2
(A) TS5 coa a1l (B) & (&
(C) 3’7 Ieef (D) Wcett Acel

98. A (F GFE [UTe afa et 2
(A) S5 e Ao (B) Sl (&I
(C) 33 el (D) SCeA ACl
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98. TEEE THE TR e YT Fari SATRauT?
(A) TirEe 97 ™ (B) 59 @
(C) =« HTed (D) HIEH e’
98. f=faifga @ & #I9 us uftrg Femeer on?
(A) fordie 97 i (B) S &
(C) =T wred (D) = F&
99. In which sport do Tania Choudhury and Nayanmoni Saikia from Assam represent
India?
(A) Lawn Bowls (B) Badminton
(C) Carrom (D) Judo
99. TPTE I+l (B WA Tl *RFWB (PR (<70 TReS aAfSfg T¢I 2
(A) A (B) @S0
(C) &% (D) ol
99. SPICHR IRl (BIYAT G TR *BFRA (T (IR SRCed 2Afsfiiag Fea 2
(A) T I (B) T
(C) <™ (D) el
99. 3TEMM ATl =gl TR TN FEfRam YRAMH S A7 e ?
(A) T = (B) ssfied
(C) (D) %’
99. 3G I AT =NeRl TR THHHT Efcran fhe ©a § wra w1 wfaffees st §7
(A) @M S (B) ssfiea
(C) (D) et
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100. Identify the Badminton player.

(A) Dipa Karmakar (B) Pullela Gopichand

(C) Sania Mirza (D) Leander Paes
100. (TG (LERORIFE forire < |

(A) Tl TP (B) =&l Colae™

(C) wfera firet (D) FIReR (e
100. S (RIS iz T |

(A) TN TP (B) =&l ConAmm

(C) rifern et (D) fiEeR s
100. sEfieeT TeumeEt fmmf |

(A) <1 FHRR (B) geiat T

(C) @ fosit (D) TRt o
100. Isfieq Raare! 1 Tg=niy|

(A) €T FHRR (B) Yerel Mg

(C) e ot (D) fodet T

101. In which sport did India not win a medal at 2020 Tokyo Olympics?

(A) Boxing (B) Weightlifting
(C) Taekwondo (D) Wrestling
101. 2020 5 IR+Fe SRS (FFRY (R0 (Gl 27F e F41 e ?
A) IEgm (B) ©ICAICELT
(C) BlRcPECS (D) &=
101. 2020 GIfFe TRH4F SO (FIe (IR TMF (SO 2
(A) Tm (B) ICACST
(C) DRCFRICT (D) F%
101. 2020 "AEATEM Rt fAfries SeReERETE YAl 56 TomaTd ed WHRa ?
INEE:ISIREIR] (B) Tifer T@mm™
(C) dTERaTE (D) EHATET
101. 9Rd 3 2020 RN Afus ¥ f5a @t § qesh Tt Sfiar?
(A) Faa (B) Wi
(C) qrEEEr (D) Pt
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102. The Diamond League is an annual series of competitions in which area?
(A) Swimming (B) Badminton
(C) Gymnastics (D) Track and Field Events

102. T AfSEIfaTe™ *R4e TRN ¢ Sl (FERY (1 OTCS Too ?

(A) AceE (B) IfrGa
(C) fEiE®m (D) G < fFewq (4a
102. JRF 2feraiiorer e TRNS e (@ (3o A TS 2
(A) er” (B) TSR
(C) e (D) TS @< fFeeeq el
102. A TEN TERARAEE B SRmE o g« oS gl 17
(A) |HfEE (B) Fefired
(C) T (D) 3% W BIARTE AT SR

102. TrWE i fohd @t & ufcnfiarsti it we anfifes @ 27
(A) TRt (B) Ssfiem
(C) TSrwTfee (D) & 3R Fieg T

103. Identify the incorrectly matched pair.
(A) Stefan Edberg : Cricket (B) Bjorn Borg : Lawn Tennis
(C) Tiger Woods : Golf (D) Cristiano Ronaldo : Football

103. SRS el Y&dl @[l Hre T |
(A) fBcea awasf - f&eh (B) fEe1 @9f : 7' (Bfevm
(C) Bizeme Tog : s (D) &3 @Il « Fho3e]

103. TEToIcd CHetieal (aels fofers e |
(A) OFF @1 : (B) T 3sf : o1 (BT
(C) TBizeE T : o (D) @M @MICEe! : Foe
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103. T FEEAE SR T |
(A) Ttk weamt : foehe (B) =4 = : o 2
(C) TR 3Igd : Teh (D) ffEam’ THee’ : Fead

103. T gAferd S i T |
(A) e Tgat : foehe (B) = &t : &fq 2

(C) TR JSH : Meh (D) Terfeeami TATeeT @ Peata

104. Where is the National War Memorial located?
(A) Srinagar (B) New Delhi

(C) Tawang (D) Amritsar

104. B3R & ool 37T wEiErs ?
(A) i (B) = fra
(C) TR (D) S

104. BT I SRS (FIUF SRS 2
(A) Sl (B) woe fal

X

(C) IR (D) e

104. 3 ar 79 e o= g7
(A) R (B) Tem fagt
(C) ami (D) AT

104. T g TR el € 27
(A) =r (B) 7 fegh
(C) @ (D) 3TYaT
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105. Which of the following is the Mission Basundhara of the Government of Assam
related to?

(A) Fishery and livelihood
(B) Women empowerment
(C) Land records and land revenues

(D) Digital education

105. FRRIS @GR Gre P 53R N2 @ 71 2
(A) TR SAF G
(B) 2w SREpael
(C) Tiicay oI T e
(D) fefercoer Pl

105. o (LA 0o ST BT PR 2Pg Goo ?
(A) TR 8 G
(B) =1 SEenael
(C) PR wlerel @ Bf Arery
(D) fEfEbre fors

105. 7™ FLERM M sg-exmn MerH w1 qmear 37
(A) T FRa IR =3 TR
(B) =TS TG QIR
(C) BT-IEI TR BI-TSIT
(D) fafsreat dietieng

105. 3199 9 1 fier sguw freafafaa § @ frag gafa 27
(A) HEIUTEH AR TSfaeht
(B) HEe TfcheRT
(C) ¥ sAfici@ IR oy Ts
(D) feforea farem
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106.

Which of the following organizations is not in the business of commercial vehicles?

(A) Larsen & Toubro (B) Mahindra & Mahindra
(C) Force Motors (D) Tata Motors
106. IR @CH afsem e qaae TPIRE F17e Sive =7 ?
(A) TRC= €% b’ (B) IRwm 9y Ifwm
(C) 6 W= (D) BT5T w692
106. SIcod (Pl AP A TTarReTs TP TS w3 2
(A) FRCH S Gl (B) wWifzml =ire Tifzm
(C) cFPf Ha (D) 15T GG
106. TEEM o HHAMT HIATTET HoR MR T=77
(A) @A TR gS (B) wfe= w= Afews
(C) wd med (D) 2rT He"
106. T=fafad & @ wF-a1 w@1e arfvfses aredi & e J T8 27
(A) @ UE g8t (B) wfézn e wfgm
(C) ®iE Hied (D) e Aed
107. If the pH of a liquid is 50, then the liquid is
(A) alkaline in nature (B) neutral in nature
(C) liquid metal (D) acidic in nature
107. SN 99 *mq pH o4 5:0 3¢, (73 91 2wl
(A) 4R[SR 2Ffeq (B) zfie zipfeq
(C) © 4Ty (D) wIfEr epfed
107. 93 ©aeR 1. @25, (pH) 5-0 (e, (313 S/&b
(A) =R ZFheq (B) TR =phon
(C) @ 4Ty (D) = =3feq
107. Jfc AFE FE@EE pHIT 50, 3Tl o ATETEl
(A) @R g (B) ==
(C) et =g (D) ufere s
107. S foret 53 &1 dio Teo (pH) AM 5:0 8, Al a8 59 ®
(A) Tepfd § @i (B) Whfd B deey
(C) Wt &g (D) wwpfc & vl
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108. Who is the Vice President of India, as on 1st of January, 2024?
(A) Gulab Chand Kataria (B) Ram Nath Kovind
(C) Jagdeep Dhankhar (D) Rajnath Singh
108. 1 GRFENI, 2024 CICF OFeq THAIGANS @1 2
(A) SR &% FOIAT (B) ¥ 2 FIR™
(C) wafiel 44T (D) FrEEne PR
108. 1 RIS, 2024 AACE ORCed T7RIE7fS & 2
(A) (oIl BT oI (B) AN =12 (FIR™
(C) wofi q=4T (D) = Fige
108. 2024 WEAEH 1 TR @IfdfemE TRAH eTs SRR ar?
(A) TS T] RN (B) T 1Y hid=<
(C) ST et (D) Ty fie
108. 1 SHafl, 2024 1 YRA % I FIF &7
(A) T FE T (B) TH 1Y =hife
(C) STE gEg (D) Ty g
109. Which of the following belongs to Class I category of lever?
(A) Scissor (B) Wheelbarrow
(€) Human arm (D) Stapler
109. RS @RI 22w @R frermq =mefs 2
(A) ol (B) o=l ait
(C) e AL (D) BT
109. oA @D A IR foreicad =mwss 2
A) <Ifo (B) coaTaNfe
(C) T T© (D) BT
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109. TEEH s« AEEn grar 1 foemty fafefr?
(A) @Hfy (B) et T
(C) AHfa A= (D) WUAR

109. fF=fefiad § @ wH-u1 it it e [ 2o § geifed 2?
(A) i (B) T
(C) wHa YT (D) WUeR

110. The National Flag of which country has a white cross over red background?
(A) Brazil (B) Switzerland

(C) The United States of America (D) Japan

o

110. (I PR SIS ~IOIPre 8] *Pge 751 967 G5l F7 B SR ?

(A) afewt (B) DIEECeTS
(C) SIC=F TS (D) Il

110. (I (TCF SO TSP 7% “HPRCS GFio MM G SICR 2

(A) (B) ARG
(C) WIRF Fea1g (D) S

110. 59 gERA fHRfhermra Misn mef |arme TR %9 37
(A) i (B) HISIReive

(C) iR SUTg TR (D) M

110. fFd 391 % TP a9 | ot YRYfH T TH Hhe Y 37
(A) Ssfiet (B) fersieie

R

(C) |gH TsT I (D) ST
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111. Which of the following is considered as the earliest compilation?
(A) Yagjurveda (B) Atharvaveda
(C) Rigveda (D) Samaveda

111. FRRRS @R S6RSCS 2@l Aper e [Reaval 41 27 2
(A) THHT (B) ‘wadcw’
(C) Ao (D) ST’

111, SICoa @AGCP ADRTOT e BEid Reavel wal =3 2
(A) T (B) ‘“wrean’
(C) ‘4w’ (D) TN
111. TR FeE satgs fifsfe gy fomam fosm gaam ge17?
(A) g (B) ‘e’
(C) ‘foae’ (D) ‘@mee’

111. f=fafiaa # 9 fr8 9@ qge Gehed AHT ST 27
(A) ‘g (B) ‘storeee’
(C) ‘FFaE (D) ‘@mae’

112. Which of the following places was a part of the Indus Valley Civilization?
(A) Machilipatnam (B) Babylon
(C) Mohenjo-daro (D) Byzantine

o~

112, FRRRS @G TW O Sorerl sTerer o@efe ?

(A) TR (B) Qe

(C) CEGMICAl (D) AfECSeBIZA
112. fca Tfafie @M gAMb P S Torer =i fos 2

(A) TEfereres (B) It

(C) wccgmIcal (D) RCEBIRA
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112. A 99 SR faey gRAf demta srrmE?
(A) HSTTEH (B) sfe’=
(C) TWeAsl R’ (D) fermf=e

112. Ffafad & @ #9-w T Ty = g o e o
(A) TScugTg (B) el
(C) HrEAsIEe! (D) sfiefeea

113. Who among the following was involved in the Battle of Waterloo?
(A) Napoleon Bonaparte (B) Czar Nicholas

(C) Adolf Hitler (D) George Washington

113. T0E J&© FARIRS (@R St wifee ?
(A) TR G5 (B) ficmeTs @I
(C) «wwr febata (D) & ARG

113. S5 SERers W (¢ STBRER Joa See fReer 2
(A) TR @I#I5 (B) &= fercmret
(C) «oor f25eTR (D) & SHHIG

113. TERE SHF GR AT R e s &7
(A) 9 T s (B) R e @
(C) T fezem (D) St =Tfre

113. Treq it wer # Fefafad @ & &F i on?
(A) et SR (B) SR fihrera
(C) TEfew fgeer (D) St aTf¥Fres
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114. Bhairabkunda is a trijunction of which of the following?

(A) Assam, Bhutan, China
(B) Assam, Bhutan, Arunachal Pradesh
(C) Assam, Bhutan, Sikkim
(D) Assam, Sikkim, Arunachal Pradesh

114, (o5Ps MRS @ [eea @R g 2
(A) SPH, $HIF, B
(B) P, O, S 20
(C) =P, oH, e
(D) =T, fofe, Sreembst eiom

114. o9 (e fouf ZIca ez (e<ge ?
(A) SPT, TOM, B
(B) SPT, BN, SRFATbE 2|
(C) =P, To, Bifes
(D) =P, PIiRFS, SI=eeliet 2o

114. REGH<al MEEH F6 FEH ARG TEHE ST ?

(A) TEm, qdH, ==
(B) 3TE™, YdH, TE0MT=A Ja9l
(C) TmEm™, ya, fafen

(D) 31w, faferm, Tevmee Jeu

114. Sege Frefafaa § & foraen Gewm 27
(A) 3TEH, 2, <
(B) 3TEM, ¥2H, &0 Ja¥l
(C) e, sz, fafem
(D) 7eM, fafed, sTEv=a Taut
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115. Which of the following is generally salty in taste?
(A) Snowflake (B) Rainwater
(C) Flowing river water (D) Seawater
115. FRRRS @@[eE Gam Toa1e SR 2
(A) g (B) T A1
(C) Q@RS g el (D) TSR [t
115. TR @D THFTS FIw TS 2
(A) TR (B) 3B w1
(C) =aifz® T &= (D) STICER &
115. e e TIETET TIaTe ?
(A) SRB-T5T (B) 3T@1-T}
(C) e S| @ (D) et &
115. f=ffiad & @ w-u1 @e § gme=d: T 2T 27
(A) TEweR (B) It =T Ot
(C) &t et =t art (D) EHs 1 qH
116. Which of the following mountain ranges is in North-East India?
(A) Barail Range (B) Shivalik Range
(C) Satpura Range (D) Aravalli Range
116. MRS (@R LT Teq-2 TRES TS ?
(A) <i2ET Rl (B) Prfere s
(C) Tre?[ql 7o (D) SRR 2RSTE
116. o9 oMo e (P Tegvd SHre S[fEs ?
(A) @RS Ao (B) Frifer sfor@
(C) A7 *Rforl (D) SRRfE “Rocat
116. TR e BTSIHT AT T-HHES TRATE &7
(A) SEA BTSHT AN (B) ferenfersr gt @it
(C) | BISET AT (D) AR ISET ATR
116. Fmfafad § & wF-df vda e qaiw Ira § 27
(A) =R Aoft (B) fRefers aof
(C) @ageT #vft (D) 3TEet qaa ot
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117.

117.

117.

117.

117.

Which of the following statements is incorrect?
(A) Lakshadweep is a Union Territory of India.

(B) Maldives is a Union Territory of India.

(C) Andaman and Nicobar Islands is a Union Territory of India.

(D) Puducherry is a Union Territory of India.

o

fRfeife (@ Tfe sram 2

(A) FFFR SO G4« (FER *NHTe 7% |

(B) weTalel SRed g« (T 1o Jrey |

(C) SR =< fCPIRT B1oI7)g ©Req G (IR =T Trey |

(D) ~[TChd SO ¥ (FII NPT ey |

qNewa @ RIS e, 2

(A) FFFIRY SRCST G0 (FHOTS 26 |

(B) eTal7l SRCed > (FHHOTS B2 |

(C) SN & fehlaa Avi7je ©Red Gl (FwHIFTe S |
(D) 0o CRCeT i (FTHFTS W%t |

TeEf S fagforr Mt mare

(A) Tl wRaf T s e TS|

(B) weifsmr WA T ferestt e TEs

(C) AT=MM M fes sr fgummemen wraft w8 firestt g wEsh |
(D) gt wrRaf T st s T |

frfafiaa @ & F9-31 oA Toa 27

(A) TeTEIT THA T TH HEAMT T 2 |

(B) WIGTET WRA %1 T haeMiad JesT 21

(C) ¥ieHH 3R fHHIaR FIUaHg YR F1 T Had Ja9 2|
(D) Y=t IR 1 Teh MY Y9 2|
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118. The Equator, the Tropic of Capricorn and the Tropic of Cancer pass through which
continent?
(A) Asia (B) Australia
(C) South America (D) Africa
118, (Pl FRIOME G YA, TG (T2 SF FHoIE (F91 #[19 02 C5ICR 2
(A) «fem (B) g
(C) wfEpel SICaFl (D) =
118. R, TSI ([ G2 FEOGE (1 (I TR 945 e So@ FCace ?
NIRCIRE (B) SICGfer
(C) W= STl (D) IRFpI
118. o gmal, W @l 3TRI Thehe BT Jel TGRS SRS ?
(A) wiE (B) erfern
(C) et AT (D) AT{GeRT
118. JHERET, FHU@T 3R FHehien foha Teri & ge [ed! 27
(A) T (B) itegferan
(C) afequr st (D) THIH
119. Which of the following is an island State of the United States of America?
(A) Madagascar (B) Canary Islands
(C) Hawaii (D) Greenland
119. IR @ Sl Feqg G- Fomrey ?
(A) SWIoER (B) (I SI1BCe1e
(C) =mr (D) Fcere
119. oA @ADL TR FeAE 9F0 F7RIE 2
(A) SMIETETE (B) I @A
(©) Zear2 (D) TS

SLRC-2024/P-111/ 1-E 72



119.

119.

TR SeET TR T3 ge 6 fad e ?

(A) HTERTRERT (B) &t fgu
(C) T (D) freTe
frfafad 5 8 SH-91 Gg% Ts9 SN H TH 69 T59 87
(A) HEFTER (B) ¥ g
(C) T (D) Tfete

120.

120.

120.

120.

120.

Sudden burst into the open of hot water and vapour from deep underground is
termed as

(A) geyser (B) volcano

(C) tornado (D) tsunami

GG SIS 1 o< 1A B A REwReR &i<Ees fefe @i ARG (e 2w
(A) T 2l (B) wczfIf

(©) Befeer (D) pf

TSR S (AP AP REFRC 7 &l 43R A7 felaf® 26 qce

(A) Tzl (B) wczfIf

(©) g (D)

meft B s g g o) @ AR g

(4) fog g (B) st s

(C) e (D) g

Tt o A gl § T Tt 3R 9T % T Hed I el Il

(A) TS (B) ST

(C) T (D) gt
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121. Which of the following is not a component of the Constitution of India?
(A) The Directive Principles of State Policy
(B) The Directive Rights of the Centre
(C) The Fundamental Rights

(D) The Fundamental Duties

121. TR @ o ARy Some W=y 2

(A) T ~IfBEEE ot N
(B) %A I SR

(C) e ST

(D) CNfrE T

121. T5d @0 ©RCed ARG Soqmie o3 2

(A) FF “AfSEmR ot T
(B) (Fcwa g wiiEem

(C) Cfere Al

(D) CNferF T

121, TEEM SeF1 YRAM FffSe Ser Te1?
(A) @ T AreeTe
(B) Toreanty forenm @
(C) Tfeet Heg
(D) TfAT AT FT
121. Frefeafad & @ FF-a1 319 9rd & Gfaue § T8 27
(A) TsT % Hifg-Feves frga
(B) % o fHe3h AfTRR
(C) wifeTsh iR
(D) HifcT FHaea
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122. A continuous rise in the price level is called
(A) stagflation (B) deflation
(C) hyperinflation (D) inflation
122. o9 B9 TS I (il 27
A) ZRT9l (B) SHIfe
(©) =fs qurRfe (D) Farfs
122, ETEE F9MS e <1 2
(A) frverel-"HIfs (B) SHIfe
() wfe qwrfe (D) s
122, o€ A T S84 ST qHEE gt
(A) FTHRITH (B) fewermm
(C) ETEURETRATH (D) THAIE
122. 9oF TR # fRa gfg 1 &1 ar &
(A) TTHRITH (B) fewizm
(C) TG (D) T
123. What does DAY stand for in the National Rural Livelihoods Mission (DAY-NRLM)?
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana
(D) District Achievement Yojana
123. ABE 27 GG SfEm (DAY-NRLM)S DAY i &0 2

SLRC—2024/P-111/ 1-E
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123. e AN S i (DAY-NRLM)-9 DAY @108 F Q-0 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

123. WFA WA AEHiags HRE (DAY-NRLM)3TE DAY H1 JSHI1?
(A) feafeae afafafefa amr (District Availability Yojana)
(B) dFeamet 31=ded AT (Deendayal Antyodaya Yojana)
(C) dHeTa Tgafesd AsHl (Deendayal Ayurvedic Yojana)
(D) femfede wfawm= ASAT (District Achievement Yojana)

123. TP urHT SArsfifast feM [National Rural Livelihood Mission (DAY-NRLM)| ® DAY &
31 77

(A) 5o 3uetsyar JASAT (District Availability Yojana)
(B) &gt NG AT (Deendayal Antyodaya Yojana)
(C) dFeaTe Agdfes ASHT (Deendayal Ayurvedic Yojana)
(D) e 3uafsy BIEE (District Achievement Yojana)

124. Which of the following novels was written by Padma Shri Rongbong Terang?
(A) Mrityunjay (B) Oximot Jar Heral Xeema
(C) Rongmilir Hanhi (D) Miri Jiyori

124. FEERS @@y Somys A 9238 (SAICS I61 FECZ 2

(A) To&d (B) SETN@ 19 (2919 N1
(C) TR 2z (D) fafT &Fs!

124. oA (@ TP A 3R (SR =l A0S 2
A) To&T (B) SFTN@ 19 21T N1
(C) F<Rfer 2R (D) faf7 &aa
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124. TEEN Je g arEt G2 @ aue foemiE?
(A) Fg=IT (B) 37dmd IR &4t dimr
(C) IfeR Bife (D) faRt fordt

124. F=fafad 8 9 sH-91 =9 g T o g foran mn?
(A) g (B) 3rdiad SR 8ueT diar
(C) TIfafer glgt (D) fdt foardt

125. Which of the following is not a Central Armed Police Force of India?
(A) Indian Coast Guard (ICG)
(B) Sashastra Seema Bal (SSB)
(C) National Security Guard (NSG)

(D) Central Industrial Security Force (CISF)

125. IS (@M Seq (FRE P S IR T2 2
(A) TSRO Toge TRl (ICG)
(B) [F ST 71 (SSB)
(C) g = sI¢ (NSG)
(D) IR Srmifas Faereriza (CISF)

125. Too (@D SRCeH (RN g @il 7w 2
(A) SRR Toge Rl (ICG)
(B) “1E T 791 (SSB)
(C) B F a6 (NSG)
(D) @& Sralfes farrefzat (CISF)
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125. TERM FeF1 qrat e grfeemar ety g aT?
A) = wE TE (ICG)
(B) & fomr s/t (SSB)
(C) Jma fafesfdfe mE (NSG)
(D) ¥=a g ke wd (CISF)
125. F=ffiad & 4 SH-91 9 &1 He g et oo 7@ 87
(A) WA deterss o (ICG)
(B) 93t €M1 97 (SSB)
(C) g gean mE (NSG)
(D) e =Ntk gean st (CISF)
126. What is the chemical symbol for silver?
(A) Ag (B) Si
(C) Sv (D) Au
126. F*R IPTRF FRF© 5 2
(A) Ag (B) Si
(C) Sv (D) Au
126. T IPTREF AT F1 2
(A) Ag (B) Si
(C) Sv (D) Au
126. & TEEHes ff=fem ar?
(A) Ag (B) Si
(C) Sv (D) Au
126. =ict =1 THEMS fag w87
(A) Ag (B) Si
(C) Sv (D) Au
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127. Who is the President of the USA, as on 1lst of January, 2024?
(A) Barack Obama (B) Donald Trump
(C) Joe Biden (D) Rishi Sunak
127. 1 SEEE1, 2024 AT AP JSET 57T (Pl 2
(A) TR I (B) C(TFIFS G2
(C) & BT (D) o T
127. 1 SRRIRI, 2024 FCACH TR JSAEA A6 2
(A) I S (B) (TS G
(C) cem 2ee (D) AR T
127. 2024 AEATEH 1 AT @rfefim i Somg gy grerfimen ae
(A) SR 3TEME (B) &lcs &F9
(C) & =g (D) Teaft gk
127. 1 SHad, 2024 1 G TsT JHIEHT 1 TFIfd HH 27
(A) SR A& (B) SHIeE TH
(C) st foreq (D) =Y g
128. Which of the following is considered as the powerhouse of an animal cell?
(A) Nucleus (B) Golgi apparatus
(C) Ribosome (D) Mitochondria
128. kRS @GR 2@ @R *feq sqm@ wierl RKieaal Fa1 272
A) @R " (B) a’=ie g
(C) =TT (D) BB fes
128. 7 @FELE 2 @R *feq T 2o R 311 272
(A) e (B) oIS %
(C) AzCACEI™ (D) SRCHRRG
128. TeE seE [N Sefeme amm mrif aife g8 fafemm smee
A) et fie (B) TeAfST Tem
(C) TE'sH (D) =g s
128. ffafga & @ foFa g3y Fif3reet 1 dreresd W ST 37
(A) Hsh (B) Testt ot
(C) TE=TE™ (D) HTEErRTTga
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129.

Which of the following countries does not have a seashore?

(A) China (B) Afghanistan
(C) Myanmar (D) Iran
129. fRfeiRe (leree ore i Toipet MR 2
(A) B (B) wFsIfee
(C) Wl (D) 21l
129. Teod (I (ifoa TAeh (72 ?
(A) B (B) A=Al
(C) SR (D) M
129. TR s« BTeTel ol ¥ Tt
A) == (B) ATHIEAT
(C) =R (D) =
129. fr=fofaa & @ fre 3o @ wysae & 27
(A) == (B) ST
(C) wmm (D) T
130. The world’s largest island Greenland is a part of which of the following countries?
(A) Denmark (B) Sweden
(C) Canada (D) Iceland
130. RS 2o A7, AACee @FELe R = 2
(A) (T (B) Do
(C) el (D) wriZnCeTes
130. Roes I2ew A7 Ao (&R (o == 2
(A) (T (B) f2cww
(C) <Tel (D) TS
130. gA <tfer f3u fireter =« grerf smem?
(A) ST (B) gged
(C) T (D) ATEHeE
130. fova =1 Ta¥ &1 &, UiHcis, fore a1 &1 9T 27
(A) ST (B) wied
(C) TS (D) *TEHete
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131.

Consider the four numbers given here :
I. 376 II. 629 II. 921 IV. 397

If the digits of each number are arranged in ascending order, which new number
would be the smallest?

(A) III (B) II
() 1 (D) IV
131. @we BIRoI 7Ry R 79
I. 376 II. 629 III. 921 IvV. 397
2fSCHT FRAT TG THGAS G (I TPel IR [ TPeToq 2 2
(A) III (B) II
() 1 (D) IV
131. o (redl BRMG A< Kbl el
I. 376 II. 629  III. 921  IV. 397
2IfSfb Yy SR TR eI 20, (I T A FUow B¢ ?
(A) III (B) II
() 1 (D) IV
131. B OHs SARETRRE! TSR & -
I. 376 II. 629  III. 921  IV. 397
Sfe AFHmEEl AN FAFERE StaF™ SIiREE a9, 3l 96 MeF SENEET Safgs
ERIEEES T
(A) III (B) II
(©) 1 (D) IV
131. I & T8 =9 geEst w fomm fifs
I. 376 II. 620 1. 921  IV. 397
Ifg T TEAT 1 AN FH B FAfed foran S, @t sH-dt = g ged St 27
(A) III (B) II
(©) 1 (D) IV
132. Find the odd one out.

(A) Sparrow (B) Crow
(C) Bat (D) Peacock
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132. S¥el *=eo! ol Sferies |
(A) wSOR (B) =TI
(©) =g (D) S >
132. i & @ e |
(A) vER (B) <=
(C) e (D) ¥
132. TR AREE! T G|
(A) g@T (B) ars@n
(C) wmmter (D) =TeE
132. A =l g |
(A) T (B) @t
(C) =wmag (D) #®
133. Pointing to Sarat in a photograph, Malini said, “His brother’s father is the only son
of my grandfather”. How is Malini related to Sarat?
(A) Aunt (B) Grandmother
(C) Mother (D) Sister
133. 97 FOIFS *[Oq BELE SA$PRIZ AR '@, — (967 Orgd g (TR FFMTOR
GG I | Al ] PGS (e TR TS 2
(A) 4¥ (B) el
(C) e (D) =
133. @315 =RCe *me-9q W 2o wea e qcem, “Om eREE Prel wNE Premes 9w g
cxeE”’ | ATl FelE *[e-9q A Foo{fFe 2
(a) I (B) fromd
(©) ¥ (D) =it
133. dEmiEE WA e g wiferen gam, ol faa fowrn snfa ety wee’ feen’)

TTfT ST TA SRS J1?
A) Temre (B) foret
(C) fomm I BEEWACEIEIE]
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133.

U TER H IRG hl S W A Y W] 4 Fal, Ik WIE oh fual W IS ok ghalld I
27| wierft, wra @ T yeR wafia 27

(A) == (B) <r&t
(C) =t (D) =&

134.

134.

134.

134.

134.

If ROBOTICS is coded as OROBITSC, then PROJECTS would be coded as
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

g ROBOTICSE OROBITSC f25I(d 'S 341 =, (908 PROJECTST ¥'T 2’9
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

It ROBOTICS-¢3J &S OROBITSC 2, 934 PROJECTS-¢J R3PS 24
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

Sf¢ ROBOTICS T a1 OROBITSC, 371 PROJECTS 4 &ar1 SImi=

(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

Ife ROBOTICS %l OROBITSC & &4 § #ifed fomam sirar 8, @@ PROJECTS & & &9 @
ehie for STam, &% @

(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

135.

135.

In a zoo, the lion’s cage is towards the East of tiger’s cage. At the exact South of
the lion’s cage, there is bear’s cage, which is towards the West of cheetah’s cage.
In which direction is the tiger’s cage from the cheetah’s cage?

(A) South-East (B) North-West
(C) South-West (D) East

9Bl ffeEre Fikeq SIQEh! A9T SI9E 77 T SiCE | Piked slare| 0% wEE F10e eeee
S SCR, FCh! ORMR SIaeTa 2163 FIceT MCg | A9 SIQeco! PORES SQea 2[/1 (e e
99 2

(A) wFReI-27 (B) Teq-Ifey

(C) wFFa-#(f*5x (D) 7R
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135.

135.

135.

(b RGITR Prrees <l qces AR 7 W | Piceeg 4| 0% wfwe I@cR SIEeE bl Al
oo <mE 2IFx e | oo <151 (A qcTd A1 @I T 2

(A) wfEwe-o (B) Tea-7Ifoy

(C) wfEwal-oIf5 (D) 7

o8 JArEtferme ' wrsten S wrei aeeer fw'f weei ey ged
AT S Faar e et qef wretien foar el safd aman?

(A) EIAT-HHSI (B) GI-HHT&If

(C) WrerT-|HTEIy (D) G

U fafeamr 4 2R 1 s, a9 o ISk & qd 61 3T 21 W o TIsk & 3ie Sfeor 1§ e 1 fus
7, 91 <fiar & fisR @ ufsm it 3R 2| <fiar & fisR @ s =1 fosw form foom & 27

(A) sferur-gd (B) IW-4fm

(C) sfegur-ufzm (D) &

136.

136.

136.

136.

136.

At what speed should a car travel on a highway to reach a destination 12 km away
in 15 minutes?

(A) 64 kmph (B) 84 kmph
(C) 48 kmph (D) 36 kmph

qeriee 12 . . qaeq awa 2w 15 {fse 05~/ 939 THI91CI [ @ore T@l 39
o1 2

(A) 64 . fi. afe 9o (B) 84 . fi. afe v

(C) 48 . fi. afs gb (D) 36 . fi. @fe g6

«3f5 NS e T afers 2o 15 MfIG 12 RFeEfivR 1@e o8y ¢ 2

(A) 64 5. fi. afs g6 (B) 84 . fi. afe g

(C) 48 . fil. =fe 94 (D) 36 f. fil. =fe 945

T TSITATHREE T T 98 @RS @Reen 15 fftea 12 o fifo Miem w@m=?

(A) =EEE 64 foho filo (B) e 84 feho filo

(C) =vermE 48 o fio (D) =vermE 36 o fio

15 fife # 12 foreiivier T forelt Taea 0 U5 o foTT T 1 &l Tomm  fore TR @ =@
nfeu?

(A) 64 fho o Ufd =T (B) 84 feho o ufd =

(C) 48 fho o ufa = (D) 36 feho o Ufd =T
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137. Which word would be the last in a standard English dictionary?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
137. Q5] W 2RATE SASHTS (PO *< (@ e 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
137. S 3RCA(G ST (&R *[b (I ARG 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
137. AWM TS |G fogeTa 96l | 6 =7

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
137. HHH S Ieqehier § -7 Ieq 3ifaw am?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
138. Identify the correctly spelt word.

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
138. W& RS W5l DS T |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
138. S IR X XS Feee] |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
138. TR 19 WErerd! ey |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
138. Gl eI aTel ¥eg I TEEIT |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
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139.

Which of the following words cannot be made using the letters of MENDICANT?

(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
139. MENDICANTS W42 <2 Ffq FRR® (P0G > 515 < =it 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
139. MENDICANT-93 SRR JR2[ I ACA (T *[A15 9/ F1 IR 1 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
139. MENDICANT {4 graI®dl IR MR 9« dieie ! el g’
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
139. fA=fafiga & @ -1 s MENDICANT < 31800 1 YT hich Al ST ST Gohdl 27
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
140. At the Youth Parliament, certain number of country representatives sit in a linear

140.

row and all are facing the audience. Only ten persons sit to the left of Estonia. Fiji
sits eighth to the left of Estonia. Angola sits fourth to the right of Bahrain. Canada
sits to the immediate left of Denmark, and Denmark is the third from the extreme
right end of the row. The number of countries between Estonia and Denmark is
same as Bahrain and Estonia. Only six countries sit between Angola and Canada.
In total, how many countries are seated at the Youth Parliament?

(A) 19 B) 21

(C) 32 (D) 17

9Bl Iq WS (PRI (P Al fy (s J4 IR Gevl e AR | GBI ST
(e WRAIF! NS 02 | GBI ST TEY FTo S A20R | ARCIEAT AW CireieE] v
TS @I B3R | (TN % qISTICe A2 e FIACl, IF (T A[NOR QIS
G 01 ~[ SO FTe Sz | BRI SF (TR AEq OrR RS AR
GBI WER (P FRATE CICS IR | QRCalTeT] S FICH WSS WG 24 (P2 f2 =0z | 9
RIS o0 e o afefafy 3f2 =z 2

(A) 19 (B) 21
(C) 32 (D) 17
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140.

140.

140.

T AT, B A (e alfefia @@ Mfice TeTcR GaR AR, WP JCRR | A e
GEEIFRR I Mo I BRI RS, GCEIERE AT S T IO | S, A2
TR 50l Bt IO | FIMCl, (Tachd I I IR <R (Ui T 5 O 13
(AT WORI | CBIR @R (TR & (AR FRLY ARCH2A @R GCHITIF I | ST G2
FRITCR W0 Mg Q&G 0P AT | I AT G5 I ¢ 90T ACACR 2

(A) 19 (B) 21

(C) 32 (D) 17

G AN GUed R e BN ARITERAR Rl MW iR wiiEE e
e fenf stfafs anfser’ amfrer freet | fhisen v e sttt argaforma ) om @
AN JAEIIEE dforma et | wrArern Sk sTfafsy Fisme S|l e |l
SRS A AT 2| T S0 S TSe Siee Bt €, STeded S U
TS THATSHT | 37 AT AR HHTSTH TSRTE T STEThRT FSRREh | M8 7o g6t oawi of
ATSHIA were SR 97

A) 19 (B) 21

(C) 32 (D) 17

ga1 Gee W F© Hiya g # ov % ufdHe uwh @l ufe W ded @ 3R |l il fl I g7
Fh IS B B | TR Y 97 3R Fead 5@ =afw 9 F 1 fSh, wafEn it i emed wm W
B M, SelF % ST ¥ =Y T W F| FATST, STHE & I a1 AR d931 2, IR ST Uk
sifom 2 BR A TR TE W B | TR 3R STk % i 39 A ge selih IR uwEitE %
THM 2| ST 3R FATS o i hadl B8 99 93d ¢ | Fol Heiert fohae %1 a1 9o | 3d 87
(A) 19 (B) 21

(C) 32 (D) 17

141.

141.

141.

Which option is similar to Pencil : Student : School?

(A) Mouse : Eat : Biscuit (B) Computer : Officer : Bank
(C) Pen : Writer : Book (D) Cash : Shopkeeper : Goods
(o] Rpg (oifeest : PRPmiRll « Rvpler sTaea 1l 2

(A) ﬁﬁ:wwﬁ@ (B) I+ITOR : [l : @F

(C) I : (@14 : ol (D) <19I% : (ARl : SN

e e oo « =i« Rmyer-99 S 2

(A)%@:wq:ﬁgﬁ (B) I(~+THE : wfaIfRs : =

(C) oI : (14 : 32 (D) <9 : WP @ 2l
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141. =d foom of et « o wEEnfer St a9 ?

(A) TAS : ST : foregpe (B) HHER : Hia@ fil : s

(C) W : ferfi - forerma (D) & T : TARR : S
141. FH-41 fasheu Ufhet : B : Tk & qUH 37

(A) =&« @ fafene (B)W:aﬁwzaﬁﬁ

(C) o™ : @ : Tohara (D) e : HMER : AHH

142. If REAR = 42, TEAR = 44 and DEAR = 28, then which of the following sets is
incorrectly paired?

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

142. I REAR = 42, TEAR = 44 W< DEAR = 28, (9(3 Waf1® (FI6 (@9 reF 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

142. 3 REAR = 42, TEAR = 44 &3} DEAR = 28 3%, O(J “II(6q (I $e (Tl ?
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

142. §f¢ REAR = 42, TEAR = 44 3 DEAR = 28, 37ecll MEM™ e ST o1 U &l ¢

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
142. I REAR = 42, TEAR = 44 3R DEAR = 28, qi fi=fdfad § ¥ ®H-91 ¥ Toad ot 9
Sirer T 87
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

143. Find the best option to fill in the last term :
CIRCLE : GEOMETRY :: POETRY : ?

(A) CHAPTER (B) BOOKS
(C) PROSE (D) LANGUAGE
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143. Wy M 79 FE<9 e Kpaeh! fefa o
79 : IS el ¢ 2
(A) S (B) el
(C) M (D) =/l
143. ¢ *Mb “[[0H &= Tl [ 5
e : EIfNS :: el @ 2
(A) =R (B)
(C) °™ (D) =/
143. SFT GEEE! g el qereq e ae’
ST Y G 7
(A) s (B) fersma
(C) Tr7erg (D) T
143. AfqH g #l 9 & fou gaH ey @i
ENI Sofufd o e ;7
(A) st (B) g
(C) ™ (D)
144. Identify the pair with the same relationship as Child : Vaccination.
(A) Fever : Medicine (B) Food : Cooking
(C) Plant : Pesticide (D) Animals : Food
144, Prg : BFIER TP TS @RICH! e 5 |
(A) &9 : 87y (B) A : I
(C) Tfew : Foarre (D) &% : ¥W
144, Fry : BFFae-99 001 GF2 0P o NS Fe |
(A) =9 : 87y (B) 1 :
(C) Tfew : Joams (D) 21 : 4w
144, T : RATEHR 9@ G THT ST AR |
(A) AR : gfa (B) 3ER : T
(C) =T : T s (D) e : SRR
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144. =0 : SRR & TG0 G o1 SIS sl Tg= shifoTg |
(A) J@I :&dr (B) @M1 : 9ebET
(C) e : TS (D) Y : oA

145. Which of the following words would not fit correctly in the sentence?

The person died of a hit on his head.
(A) lethal (B) fatal
(C) deadly (D) subtle
145. RIS (FFG! * 278 PO Q7 T 2
O Hed TS GeeeE T97 (R |

(A) RIS (B) emerret
(C) R (D) 17
145. ‘e am __ SNre o N[ AR 1 @3 A0S NhA (@FR A D ADFOIE A7 AR
2
(A) RS (B) eeraret
(C) =TS (D) =
145. TEEM de QST AR SR STRTE @M STHRE T8T7
EREIED RGeS | O
(A) frgeama (lethal) (B) iU (fatal)
(C) e (deadly) (D) 3 (subtle)

145. fefafad @ @ -1 35 a9 § et @ 9 fhe gt gm?
fR®W__ wer @ =3t it Oid & T
(A) =T (B) STHetan
(C) W (D) Ha

146. What would be the correct sequence of the following words as per the standard
English dictionary?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2,3,4 B) 4,3,2,1
€ 4, 2,3, 1 (D) 4,3, 1, 2
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146. WS TG SO SEPI 278 72 WF L@ [ 2792

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3, 2,1
) 4,2, 3,1 D) 4, 3, 1, 2

146. 431 S 33cAS SISy SRl 2we @ T T J 2 ?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2,1
< 4, 2,3, 1 D) 4, 3, 1, 2

146. ™ WD S A fogem amm smafed s wiiEn w1 S ?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 (B) 4,3,2,1
€ 4,2,3,1 (D) 4,3, 1, 2

146. W IS IEIhIT & TFHR I Wea! 1 Tl A FT EAT7

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2,1
) 4, 2,3,1 D) 4, 3, 1, 2

147. Select the appropriate number to correctly continue the sequence 27, 30, 37, 50,

?, 98.
(A) 69 (B) 73
(C) 81 (D) 91

147. 27, 30, 37, 50, ?, 98 XRYFD] Wa(F HGARE AE TR IR o 396 |
(A) 69 (B) 73
(C) 81 (D) 91

147. 27, 30, 37, 50, ?, 98 @ AP Bl @Ce T ye AR FHo e |
(A) 69 (B) 73
(C) 81 (D) 91
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147. ®IGE N9 TR ARSI ATSHNE! 9 |
27, 30, 37, 50, ?, 98

(A) 69 (B) 73
(C) 81 (D) 91

147. FHT & Ge @1 ¥ TR WA o foru 3fa gen @ = Al
27, 30, 37, 50, ?, 98

(A) 69 (B) 73
(C) 81 (D) 91

148. Pallavi claims to be taller than Jyoti, but Smita who is taller than Pallavi knows
that Pallavi is wrong. Which of the following can be said about their height?

(A) Pallavi is definitely shorter than Jyoti
(B) Pallavi and Jyoti are of the same height
(C) Smita is the tallest of the three

(D) Cannot be determined

148. “FAIQ Wk FI @A ©R (ifoecd €%, 7 AEAe(d o4 Ao’ Wi @ “Edq Ofe oo |
(S STENFA Tl T eI @ '3« 2

(A) 7R PR (SIfoetE BI%[

(B) <1 S Ceifeq Twel I

(C) Fare S aRISI _ICSISF €4

(D) Fefa 7

148. @4l Ficece (oifen (b == Jce Wik 3, 7% e, @ @ 6@ o= ¢ 6 @ Awd

ST | OI TSl e SCEA (PG @ T 2

(A) °[EI SR2 Ceied (50 4ol

(B) @1 @R (Efe @2 ThHoR

(C) T fomerced ey e

(D) Teefme =1 T =1
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148. Tgsian MEE! Afdafigs S g am, U ugsifigs Sifitm Rearen agstft amemn Tem
EEeIRE RUIRECINERSIRIECISIEIE R ERIERCERIRICK

(A) vgsrn sAfafigs TEfEem
(B) ugsl 3T Safd=m wwe Sh
(C) Toramn wramfs Toe shfe

(D) AT g
148. ugdl, Sfq & @t B 1 @ FwA 2, Al fSar, St uget | et 8, St @ 6 ugeft e 21
3Rt S ok aR ¥ frfeifad § & @ e ST Hehdr 27
(A) ugdt e w7 @ sfa @ 31 2
(B) gl 3 sfq Y <ieE a9 ®
(C) Toar i & w=@ wisft B
(D) 7= &l feram S geat

149. At a college function, Romola pointed out to an actor and said, “He is my
mother-in-law’s only son’s nephew”. How is the actor’s mother related to Romola?

(A) Aunt (B) Daughter

(C) Niece (D) Sister-in-law

149. ICICH GF SIS W13 98 Sferele Tghriz 7, (08 (H *2 2T GG T
e’ | T e SSCTores Aed 7= 5 279 2

(a) ¥ (B) Sl
(C) eIfaret (D) T

149. 3 ICACHA SRRICH, T GG Seol e Bere wea Aceece, Tl SiNE i
GFA (BRI | SSTOR 1 IR A Frod F=o/fFS 2

(A) (B)
(C) =If (D) %
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149. TH WEHIGEH WY EETEREE W wEgREe e gam, e enfa fergasita
e’ feeTents fomme | et fomrsit wetme 71w S
INIRELIE (B) et
(C) formme (D) forerT

149. TF Hhicisl GURIE H, VAT 4 Ush AT 6l 3R TN A §C Fal, a8 W T % haild o2 0l
oiet 27| e it |t 1 AT 8 o GEy 2
(A) ==t (B) &
(C) WSt (D) &

150. Find the best option to fill in the third term :
Gravity : Newton :: ? : Copernicus
(A) Blood circulation (B) Heliocentric system
(C) Rocket (D) Radioactivity
150. ORI “MCO! ~9 FICsT TS [ fofioe 59 -
T : T 2 2 : PRI

(A) TS AL (B) TS Fm
(C) <D (D) (TerERTel

150. PR “mfb <[es & ol Rwaif et
Qegel « oISh1 12 2+ (PIomafeem

(A) & AERE (B) AT o7
(C) AT (D) (TSI

150. om{Y WEEE! AT WAl qrefeq et g
WW:%::?:W
(A) & TREREE™ (B) efasraf=s @it
(C) The (D) gt wmnfy
150. T 98 &l W o fofg daraw foehen @iV -
W&w:wgq::?:ﬁqrﬁw
(A) T qRE=R (B) GI-hiseh omeft
(C) Tehe (D) Yeafifar
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